.

WS 95, FTEEIT 56 SyaeRig] TR S T T AT
AT 1 0T S @ et 7 (How new profit sharing
vatio is caleulated at the timeof retirément of a-partner ?)

Y U6, WEETT T AEeTy) UEY] S W W - ST
T R SR ? (How Gaining Ratio is caleulated at
the time of retirement of a partner ?)

o 97 Al fere T i e 9 S S B e g
TSI 26 38 =Rl T hdl fita il 2 (1fa partner dies during
the year, how will you find out the share of profit of the
deceased partner ?)

wow 98, W 3 faes 9T e 26 e w5 witkEr saE)
(State the process of settlement of Accounts on dissolution.)

YT 99, WIEENT T o foEee o werd ° 9 gt v ar
i AT man 57 (What ave the six golden rules or
accounting technigues regarding the disselution of &
partnership firm ?)

79 100. 1 37, 2013 =1 7 faiies w=es ¢ 10 &t 500
91T 5 ST 9 | 3 T 4 WA aeT e e | ey Rea an) =R
Terfer =t weneTeRl =t Uon W1 W UEW 0F FAFE Gr=6En ween €2
ST % 4 WA 97T 2T D HERTY W 2 a0 36en 29 A
w7 Frmr L1, 2013 5 4 S0y WAETE 2 4,500 8 guiEs
T H O P g e e i gt § U
Toyriorst or wg B SrereEn wfeiEar aha | (On 1st April, 2013,
Golu Ltd. was the holder of 500 shares of ¥ 10 each. He
has paid T4 per share. At a meeting of the Directors held
on that day his sharves were forfeited for non-payment of
the first and final calls 6f7 2'and ¥ 4 per share respectively,
On 1st May, 2013, these shares were reissued fully paid
to Maganlal for T 4,500. Give the Journal entries for
recording forfeiture and reissue in the books of the
company.)




>

gifatiad gEAT (Additioral Information) :

o % S o i forEET = € 80,000 4, 2 50,000 F w0 Spare) = SR R Ty € 80,0001 (During the year
machine costing T 80,000 was sold for 3 50,000, Dividend paid T 80,000.)

qeT 1. 31.3.2012 FET 31.3.2013 = wiewn fefue g o e fagt @ feg wae faewor =AEd (From thefollowing Balance
Sheets of Lalita Ltd. as on 31.3.2012 and 31.3.2013, prepare a Cash Flow Statement) :

aifie (Liabilities) 2012 5013 T (Assets) 9012 | 2013
2 2 X 4

=y g4 (Share Capital) 45,000 65,000 | = s (Fised Assets) 46,700 83,000
A TEE (General Reserve) 15,000 27.500 | = (Stock) 11,600 13,000
Fa-Tf i (PAL) 10,000 | 15,000 | & (Debtors) 18,000 19,500
=i AHER (Trade Creditors) 8,700 11,000 | 7% (Cash) 2,000 2,500
" | wnferr = (Preliminary Expenses) 1,000 500

78,700 | 1,18,500 78,700 | 1.18.500

it e (Additional Information) :

(i) 901 2- 13 50 o e wpefil o7 &0 2 14,700 | (Depreciation on Fixed Assets for the year 2012-13 was? 14,700.)
(i) A B A erenfi = £ 7,000 FRfiE T A e T ) (An interim dividend R 7,000 has been paid totheshareholders

during the year.)

T 82, 31.03.201 2747 31.08.2013 vy {27, 2 Freaffea fafh-faemon # Twy e fereror fam FifE (From the
fullowing Balance Sheets of Shalinee Ltd. asion 31.03.2012 and 31.03.2013 prepare a Cash Flow Statement) ¢

e (Liubilities) 51.08.2012[31.03.2013]  melEl (Assets) {31.03.20.12 31.03.2013
| = z 7 l :
w379 S (Beuity Share: Capital) | 1,00,000 | 1,50,000 | W (Patents) 12,600 11,250
7 -7 (Profit & Loss Ae) 25,000 50,0000 | #57 (Building) 1460,0000 (| 1,50,000
7 70 (Bank Loan) 50,000 | 25,0000 | FERI (Investments) — | 18,750
srezifa e (Proposed Dividend) 20,0000 | 15,000 | FET (Debtors) 50,000 | 63,750
% W (Provision for Tax). 10,000 | 17,500 | =i (Stock) 2,500 3,750
wmart (Creditors) 15,000 | 11,250 | {&g (Cash) 5000 | 21,250
220,000 . 2,68,750 2,20,000 | 2,68,760_

afaftE Ja (Additional Information] :

98 1 ¢ 50,000 TRTER T < e ST Taeha ¥ 2,000 31 A i fefy e e e 6y 2 4,000 T o BT STET T (During
the year a Building having book value ¥ 50,000 was sold at a loss of 7 2,000 and depreciation ¢harged on Building was

74,000,)

Ty &4, Tl AT FEan asy | (State five charae-
teristics of Goodwill.)

WY 84, T R HediEh o aunsl e Aws | (Bxplain
the conditions for valuation of goodwill)

WY 85, TF WA 3 WAy & w7 anerd #7 (What is the
meaning of admission of a partner 7)

Y 86, W AT ATEET o WehIe S W wehdr 87 (How
can anew partner be admitted 7) :

Ty 87, Uk T WEEN F W & e A S |
{State any two main rights acquired by the new partner.)

TR 88, 7 ZT I =T 52 (What is Sacrificing Ra-
tio?)

W 89, T Sh ST Al =T e AT THT H S5
AL | (Distinguish between Sacvificing Ratio and New
Profit Sharing Ratio.)

9 90, T T STATA 1T e wifte e  Sr = |
(Distinguish between Sacrificing Ratioand Gaining Ratio.)

WO 91, TR VST T STEeRTST T o FHE WA o e
e @ "ul W | (Bxplain the accounting treatment of’
‘Goodwill’ at the time of retivement of a partner.)

T 92. T IV YEUT A S WA bl 3F T
T 379 e weRr i 7 (How would you caleulate the
amount payable to the retiring partner 7)

Y9 O3, TEER S STEEHVT T FHUA T T i
wEEETd ¥7 (What are the accounting problems al the time
of retirement of a partner ?)

1 94, FIEETT 3 SRS TR0 U Sea Wi Sy et
3 WA T yratent w87 (What adjustment

entries are made for-Joint Life: Policy on retirement of a

partier 7)




et 1 faret © 4,00,000, = TR A W T 2.40,0001
(Sales for the year 34,00,000; Cost of Goods sold 2 2,40,000.)
3renT TR ST =Rl T A % (You are required to
ealculate the following ratios) :
(a) =Me] A (Current Ratio)
th) wifte 3 (Quick Ratio)
(c) ¥ erEd 3aTe (Inventory Turnover Ratio)
() TETTieS EiiEe 2T (Proprietor’s Liabilities Ratio)
WY 69, U fEvErT S SRy HeEr ond S| (State
the objeets or advantages of Ratio Analysis.)
W 70. ST TewersT W wEn (a7 € S
(State the main limitations (Disadvantages) of Ratio
Analysis.)

argEr (Or)
e FgeTeT i @ WA #7 A Wi Al s )
(What are the limitations of Ratio Analysis? Describe these
limitations.) FEET(Or)

T faryeon @ el Wi A @ HEY ¥ S
{Explain briefly any five limitations of Ratio Analysis,)

WY 71, 0T BT S 61 A4 qar 32vE =g | (State
the meaning el objeets of Debt Equity Ratie.)

W 72, 1@l e ST S A S 7 FHeA] WA hil
T E? (What is Stock Turnover Ratio 2 How isit caleulate )

WA 73, TS BEE W W SArE w1 (Bxplain
Debtors Turnover Ratio:)

WA 74, Uah AT S e WefEr 3 15,00,000 % | 3w
ST SR 5 ¢ | AR ST 1,25 % | g e 2aed,
e A A (T F e AT (The Current
Assets of a company are ¥ 15,00,000, Its Current Ratio is 3
: 1 and Liguid Ratio is 1.25. Caleulate the amount of
Current Liabilities, Liguid Assets and Inventony:)

wvd 75, Frefafem @ e st aitwmiod s

(Caleulate Current Agsets [ror the following) : Z
Tafaer smEr (Sundry, Creditors) 64,000
=9 fae (Bills Payable) 24,000
i geit (Working Capital) 12,000

WY 76, TIohS WealTe Faraut & 317 o) TuE &7 Z6eh 9evd
FME? (Whatdo yon undevstand by Cash Flow Statement ?
What are its objects ?)

W 77, TS WairE fereruT s e hi e whtay | (Explain
the importance of Cash Flow Statments.)

o 78 X T, =1 wefel uw v 20,000 g wAThE & uE
2 30,000 TTHE TEE T R e ah uyEi T 1,00,000 F
AT ERHETAT | ST AutetE € 7,000 3T Wi ok (dena
T AT T 3,000 9T 1 THERT 27 oA, (BTe], Weforal el =ie]
S & aiads o g W) e weem 3uee & (X Lid. made
aprofit of2 1,00,000 after charging depreciation 0fs 20,000
on assets and a transfer to General Reserve of T 30,000.
The goodwill written off was T 7,000 and the gain on sale
of maghinery was 3 3,000 The ether information available
to you (change in the value of current assets and current
liabilities) is as follows) :

=i 55 ST e €6,000 = 9 5, Fiel 67 10,000
‘) gfeg, Yelew =l H 2 200 i gfes, W fawet # 23,000 =
T, S Taredt | 7 4,000 =5 aHt 3T 33 el 13 2,000 @ i
T | HETEn femmielt | IieE 7 i) (At the end of the
vear Debtors showed an increase of 6,000, Craditors an
increase ofz 10,000, Prepaid expenses an increase of ¥ 200,
Bills receivable a decrease of ¥ 3,000, Bills payable a
decrease ol # 4,000 and Outstanding expenses a decrease
of T 2,000. Ascertain the Cagh from Operating Activities.)

WA 79, STE wEe [PHEE J SR Fretetan st
i & (Srinayak Hotel Lid. has given you the following
informa-tions) : T
1 2701, 2012 shrmgi=E (Machinery as on April 1, 2012)
50,000
31 \r™, 2013 =t w9y (Machinery as on March 31,
2013) 60,000
1 378w, 2012 w1 wiEd 219 (Accumulated Deprediation
on April 1, 2012) 25,0000
31 7, 2013 R HiEE 5 (Accumulated Depreciation
on Mareh 31, 2013) 15,000
e 2 210 ek wefte Ferses g 2 25,000 @ it fm
e g ¢ 15,000 &, 571 2 13,000 T S T | 3wean gerEns
2 eyt Freyr e @ feng wens Ferfe ) (During
| the year, a Machinery costing ¥ 25,000 with Acounulated
Depreciation of ¥ 15,000 was sold fer ¥ 18,000, Calculate
Cash Flow from [nvesting Activities on the basis of the
above information.}

T 80. 31.4.2012 "9T 31.3:2013 = XY fa. &R =
frerf-famo | Vs R e aEz(From the following
Balance Sheets of XY Lbd, ason 81.3.2012 and 31.3.2013,
prepare Cash Flow Statement):

fa (Liabilities) 2012 2013 AT (Assets) 2012 2013
£4 g 3 4

wwan 39 T (Bquity Share Capital) | 4.00,000 | 7,50,000 | =4t wesfal (Fixed Assets) 5,00,000| 7.00,000
ms-w (B 1.70,000 | 1,20,000 | =1 (Stock) 210,000 250,000
10% =97 (10% Debentures) 200,000 | 1,80,000 | T (Debtars) 1, 40,000|  1,90.000
89 1pifirerr si41 (8% Pref. Shares) #0,000 1,00,000 | FF (Bank) 50,000 60,000
A wHed (General Reservel 70,000 50,000

~9,00,000/| 12,00,000 9,00,000] 12,00,000




2

W 61, e fefies 3 Frafaiea 31 AT, 2013 6 3 fHEr § wHes areRTe s fagsmon Sa Fifan (Prepare

CGommon-size Statement from the following Income Statement of Krishna Ltd. for the year ended March, 31. 2013)

(NCERT)
w13 faaun (Income Statement)
feraor (Particulars) {2000}
s (lncome) ;
T (Sales) 2,538
fafas @1/ (Miscellaneous Income) 26
et 34 (Total Income) 2,564
=4 (Expenses) -
+% 778 e 1 EE (Oost of Geods Sold) 1,429
wmEER T = (Administrative Expenses) I 184
Ty =19 (Selling Expenes) [ 720
5771 atrererd = (Other Non-Operadting Expenses] 40
ool @14 (Total Expenses) 2,366
i (Pax) 658

WO 62, ST TAVETHUT S E 7 e STl 6 e
e HI | (What is Ratio Analysis ? Explain the impor-
tance of Aceounting Ratios.)

el 63, Fereferfia Frauit e e =i e w1 A
s (Determine the amount of Gross Profit from the
following datails) . 3

it TElaa (Average Stock) 50,000
e AT #I (Stock Turnover Ratio) 5 70 (6 times)
fawet wreE (Selling Price) @06 e 25% (26% above Cost)

W 54, PRI T A A €.4,00,000 , TR R ST
5 T ¥, Wt veforan, b TR W 1.5 T € wie
TS 3ifaw TefeEn st Apd el (T 4,00,000 is the cost of
woods sold, inventory turnover 5 times, stock at the begin-
ning is 1.5 times of the stock at the end. Caleulate the
values of opening and ¢losing stock.)

gH 65, G o wEE ® =i (Stock in the beginning of
the year] 2 60,000

=1 =5 31 1 w2ien (Stock at the end of the year) € 1,00,000

w=ie #rEd e (Stock Twrnover Ratio) 8 1 (times)

forsnt gee (Selling Price) 959 T T (above cost)

FeRe vy we et 3 e | (Compute the amount of
gross profit and sales.) :

Wy 6. P = o STATE O (1) Fehe) T T,
(i) ehrefyfies ft smard SQOTH, (i) He0T-HHer SE = I
i (On the basis of the following information, caleulate
(i) Gross Profit Ratio, (i) Working Capital Turnover Ratio,
(iiiy Debt-equity Ratio):

y1 iR T 80,00,000; == T W 3 FET T 20,00,000;
< wrE € 6,00,000; TE T2 2,00,000; Few 397 I5f
7.5,00,000; FEUT57 7 2,50,000; F97 % 1,25,0001 (Net sales 2
30,00,000; Gost of Goods sold 2 20{00.000; Current Assets
6,00,000; Current Liahilities € 2,00,000; Paid-up Capital
7 5,00,000; Debentures ¥ 2,50,000; Loan ¥ 1,25,000.)

Ty 67. Frefatas gem & SFam a2 & g
A (Caleulate the Debtors Turnover Ratio from the
following information? :

@ﬁﬁiﬁﬂ ("Total Sales) 2.4.00,000
e faeha (Cash Sales) 20% of Total Sales
1.1.2012 = 2987 (Debtors on 1,1.2012) z 40,000

31.12.2012 =1 27&W (Debtors on 31.12.2012) ¥ 1,20,000
e 68, 31 Frewar, 2012 @1 wper fo, @ fagr Feram ar

(The Balance Sheet of Sumedha Ltd. as on 81st Decem-
ber, 2012 was as under) :

aifaE (Liabilities) T (Amownt) Fﬂilﬁl‘ﬂ'f (Asgets) ST (Amount)
T 7

7 s (Share Capital) 2,00.000 = (Goodwill) 1,20,000
anfE (Surplus) 58,000 e mE AR (Plant & Machinery) 1,50,000
H09H (Debentures) 1,00,000 = (Stock) 80,000
Frar (Creditors) 40,000 FWER (Debtors) 45,000
Z7 fonel (Bills Payable) 20,000 I%E (Cash) 17,000
=it & (Currenit Linbilities) 2,000 e mETT (Current Assets) 8,000

4,20,000 4,20,00




X E=
v 56, B TERa Wt H et B H T e e i (From the following data, prepare a Statement of
Profits in the Comparative form):

faawr (Purticulars) 31.3.2012 31.3.2013 \
TeeRe (Sales)  6,00,000 2 8,00,000
Wk T A (Gross Profit Ratio) 30% 40%
yemEEE =a (Administration Expenses) Z 40,000 2 1,00,000
-t (Income-tax) : 50% 650%

T 59, Fer gl @ gt il we Wi geid 5 U T A fammor T iy (From the following informas

tion, prepare 4 Comparative Income Statement showing increase, décredses and percentages) :

faemor (Particulars) 2011-12 | 2012-13
4 2
¥ faad (Net Sales) 13,200,000, | 18.00,000
T T W A ETE (Cost of Goods Sold) 10,600,000, | 14,40,000
fagma, TR TE wemEEE = (Selling, General and Adminisirative Expenses) 1,40,000 200,000
#1723 (Other Income} 16,000 4,000
#A-=A (Income-tax) 88,000 1,28,000
o 0. =it fo, w6 enrfaes feagr 31 A=, 2012 U5 2018 < P ¥ (The Balanice Sheet of Chaurasia Ltd, for the year
ending 31st March, 2012 and 2013 are as follows) : (" in '000)
31st 31st
Equity and Liabilities Note No. | Merch March
2012 2013
4 4
1. Shareholders’ Funds ;
Bquity Share Capital | . 4,000 5,000
~ Capital Reserves _ 1 160 00,
2. Non-currant Liabilities t !
Long-term Borrowings (10% Debentures) 600 500
8. Current Liabrltties :
Creditors 250 | 300
Total _ 5,000 7,000

Assels

1, Non-current Assels
() Pixed Assets:
Land and Buildings 2,000 3,000

Plant and Machinery 1,000 1,500
(b Tnvestments (Nor-current) 600 800
9, Current Assets :
Cash and Cash Equivalents 400 500
Inventories 8O0 900
Debtors 200 300
Total 5000 | 7,000

e et Fet-feramo s i 2T Feie stret 8wt we Ay aen WA =it g2 F1 ) (Draw a Comparative Balance

Sheet showing increases and decreases both in absolute flgures and in percentage.)




T | v faf =61 ena-ga @ 9 3 20,00,000 @A 97 9™
ortaT | R et SRR gy Wi A e gt
FuTas famitee T 7@ (On 1.1.2009 a Public Company
igsued 15,000, 10% Debentures of T 100 each at par which
were repayable at a premium of 15% on 31:12.2013. On
the date of maturity, the company decided to redeem the
above mentioned 10% Debentures as per the terms of issue,
out of profits. The Profit and Loss Afc gshows a eredit
balance of T 20,00,000 on this date. The offer was accepted
by all the debentureholders and all the debentures were
redeemed. )

e w e ¥ e s o fese (vite) & fng
T AT 117 9T 3T SRt &1 (Pass the necessary Journal
entries in the hooks of the contpany only for the redemption
of debentures, if the company follow See. 117 of the
Company Act:)

Wy 49, g ferfies & 41 A, 2013 Fi T 2,60,000, 10%
FUTE] R AN T 7 {26 e e (On
31st March, 2013 Puja Lid. redeemed T 2,50,000, 10% De-
bentures out of profits. Show the Journal entries.)

W 60, i foes = feafa-faemor ¥ 1-1-2018 = =
el vEfvia @ (The Balance Sheet of Priti Ltd, disclosed
the following information on 1.1.2013): 4

16% =RuToEl (16% Debentures) 10,00,000
T gie R (Debenture Redemption
Rind) 8,00,000,

150 ST Siter e By (15% Debenture
Redemption Fund Investment) 8,00,000:

2013 =5 Tore e =iy ° At S T 80,000 91
ST 31,12.2013 w1 wierE 4 35 ante w5 e w5
% §.20,000 F &= Feaw Ty FeT FUTHAT ST FieH 6t Tear T |
31.12.2018 =1 warst @ Wit 2 Yd =w Tl ¥y < 90,000
) 31 T, 2015 = wny @ aret an o feng, 16% Ror-ardr
TS Ve e, STl e frerer @i i e e as |
(The anntal contributiof to the dehenture rdemp-tion fund
wag T 80,000 for the year 2013. The debentures were
redeemable on 31.12.2013, Oh the same date investments
were sold for? 8,20,000 and the debentures were redeemed.
The bank balance as on #1.12.2013 prior to the receipt of
interest was 7 90,000; Prepare 16% Debentures Account,
Debenture Redemption Fund Account, Debenture
Redemption Fund Investment Account and Bank Account
for the year endad on'31.12.2013.)

Uy 51, U ] o o= faewey @ ared aEd
(Draw a format of Statement of Profit and Lass ofia Com-
pany.l

T 52, T ST o aTeres et o W (i) SEE)
[Draw a format (Revised) of Balance Sheet of a Company.|

o 55, Ferefia famvun = %7 26 Teyal o1 sane sitay |

(What is Financial Statement ? Explain its objectives.)

YT (O}

Fereftar Ferercor & ana == wwgm 7 fasim oo & st
T E? (What do you understand by Financial Statements ?
What are the objectives of Financial Statements ?)

o 54. Taefra Taawoil & w0 Suis i aur 3w
wefa o FaEw ) (Describe the elements of Financial
Statements and state its nature.)

YA 55, 317 fararor &, fafis il w5 =t Ffe | (Desceribe
the various elements of Income Statements. |

Wy 56, Frefeias & 52 gered # e AtEaan, 1956
Y 4rr 211 3 I AEE VI, 9 136 W & e
ey st . =R Fet-Taemay 31 W=, 2013 7 S s ;
(Prepare a Balance Sheet of Pratibha Co. Lid. as on 31st
March, 2013 as per provisions of Part [, Schedule VI, under
seetton 211 of the Companies Act, 1956 from the given
information) 2

A E©AE (General Reserve) 30,000
F9e (Debentures) 30,000
wa-w = () [Profit and Loss Afe (Cr.] 12,000
wrAt e W (Depreciation on Fixed

Assets) 7,000
e T e (Gross Fixed Assets) 90,000
e, gifEeE (Current Liabilities) 25,000
i =4 (Preliminary Expenses) 3000
i gl (Current Assets) 61,000
w3ty 6 (Equity Share Capital) 50,000

W 57, 51 W=, 2013 = T o, 7 qeem @ ety
A s v e T E (The following ledger balances were
extracted from the books of Raja Ltd. as on 31st March,
2013%

aqfiy T 97e 2 2,00,000; 12% FE0T9A 2 2,00,000; 3091 G0
1,00,000 FEAT 397, Yk T 10 =T qu e g 1
T A T $,00,000; @i ¢ 2,00,000; =w07 fon % e 2
T 2 2,00,000; wrea fam 2 50,000; ZHER 2 1,50,000; #ER ©
1,00,000; = 0T (FEETER) T 1,000000; = fAQ wrEsms
7 50,000; 12% FEuToE] &6 0T 9T @212 5,000, wRfem
¥ 55,000; TafeEr T 1,00,000; HEET H=4 T 2,00,0001 [Land
and Building ¥ 2,00,000; 12% Debentures 3 2,00,000; Share
Capital 1,00,000 Equity Shares of 2 10 each fully paid-up;
Plant and Machinery T 8,00,000; Goodwill' T 2,00,000;
Investment in Shares of Varun Ltd. T 2,00,000; Bills
Receivable 7 50,000; Debtors € 1,50,000; Creditors
7 1,00,000; Bank Loan (Unsecured) 2 1,00.000; Provision
for Taxation 3 50,000; Discountan Issueof 12% Debentures
7 5,000; Proposed Dividend 2 65,000 Stock % 1,00,000;
General Reserve T 2,00,000.]

SyToET ST s, 1956 wt EEER VI, 9 15 ATER
gl = Tergr 7 O 1 (You are required to prepare
the Balance Sheet of the Company as per Schedule V1,
Part I of the Companies Act, 1956.)




B

{70 o | o | o T I A M o e i
T 2,000 2iyr smafen ford T &, 7 Aren 09T 2R S 6
Fopem, 2 3791 w7 st fere T | 3 i e 21T 38 win v a
W qui-wET w5 H o wet am g S feRd ) IRtE e
=t T & fom = ufatzal el (Application were
received for 80,000 shares. Allotment was made pro-rata
to the applicants for 48,000 shares; the remaining
applications being refused. Money over paid on application
was utilised towards sums due onallotment, Shri Umesh,
to whom 1,500 shares were alloted, failed to pay the
allotment and call meoney and Shri Hussain, to whom 2,000
shares waore alloted, failed to pay call money. Theseshares
were forfeited. All the forfeited shares were sdld to Shri
Banerjee as fully paid-up at? 8 pershare. Show the Journal
entries to record the above transactions.)

Uy 37, e fefies A U 2 100091 5,000, 10%
SEUTOHT T e TR T 10/ Wi wE i e g s e
¥4 ¥ (Kajal Ltd. issned 5,000, 10% debentures of ¥ 100
gach, at a premium ol T 10 per debenture payable as
follows) :

FEET 91 (On Application) 725 ‘

AT 7 (On Allotment) ¥ 45
Cdifrem ofee) (ncluding prenviun)

g T, ST A T (O First and Final Cally 240

g o wfhEs w S wep i e e g ) weE

{The debentures were fully subseribed and all money |
weas duly received. Record the necessary entriesiin the

:ﬁbdks-df" the company, Show how the amournts will appear
in Balance Sheet.

o 38, TeraT feriaE = R 2 100 =mer 2,000, 8% HuTasl
it Pt farar Tt e £ 20 wredAr Ow 307 =R sirEes ot oy o |
3,000 ST 2 o SIEEA-T T 2 fod | 1.800 ST
% ferw wna el = quie; smefeEa R @ 800 & e
TR EY 200 T snstEa T g 9w T w5
Teregr Ty | @t rfoTET W B 1 (Shweta Ltd. issued 2,000,
8% Debentures of 2 100 each, payable as to T 20 on
application and balance on allotment. Applications were
received for 8,000 debentures out of which applications
for 1,800 were allosted fully. Applications for B00 were
allatted 200 debentures and the rémaining rejected. All
sums due were received. )

o fefes =6 ywen o Fw wlaitear wifmr fagr o
femi | (Journalise these transactions in the books of
Shweta Ltd. Also show the Balance Sheet.)

woq 39, IV Al s 7 W e saaarE i 2 50,000
g faman, 2 15,000 e § 3T 97 € 100 0 9% FOTTH o6
e g 10% & @2 U 2d 4| (Urvashi Ld. purchased an
established business for T50,000 payable ? 15,000 in cash
and the balance by issue of 9% debentures of T 100 at a
disecount of 10%.)

SNTETEF STE 5 o T ) (Pass the necessary Journal
entries.)

U 40, W HEET S T Heh | T 2,00,000 T et
en o TE T 2,50,000 T uT-we weraes vyl o wa H
e far 21 snférer Fagr H fomm wamre famrd i 7 (A company
took a loan of # 2,00,000 from a Bank and placed with the
Bank debentures for? 2,50,000 as collateral security. Show
how they will appear in the Company’s Balance Sheet.)

Ty 4. TTeiEs g uraET o et 2 fau e wfafeer
2ita (Journalise the transactions for issue of debentures
asgiven below) :

(JAC, 2011)
(i) W FE T 95 9% fifan g2 Eer € 100 9T T
] |

(A debentureissued at ¥ 95, repayable at T 100.)

(i) T O % 95 9T AT 59 e T 105 W g

SRR

[A debenture issued at ¥ 95, repayable al 7 105,)
(fit) T EE ¥ 100 T Frifem Een TAn e 105 o e e

ST

(A debenture issued at 2 100, repayableat ¥ 105:)
(iv) TR e 3 105 57 Tiifie gen qur 2 100 7 M fwa

Uil

(A debenture issued at T 105; repayable at @ 100.)

debenture in each of the above case is T 1000)

T 42, o SEUTIS £ wR ATe 57 Tefi wen 2 munga
T ST AT (What is meant by a Debenture? Explain
the different types of Debentures!)

T 43, T e 3797 ok w= 3771 F6E Bl [ | FE0THA <hi
T &) o WU el ST Sial & ¢ S s (Distinguish
hetween a Debenture and a Share. Why debenture is
known as loan eapital ? Explain,)

WU 44, FEOTg Tirer Fie s 2 T we= e -l
= =ErE witae | (Explain the guidelines of SEBI for
creating Deébenture Redemption Reserve.)

WY 45, FEOTHAT 2 Wi h T e T s 6 e ser
A ATe S FuiE Firan ] (Deseribe the steps for creating
Sinking Fund for Redemption of Debentures.)

WY A6, FET FHEA el ST W T o A B Hehd
7 =TEA eyl (Can a company purchase its awi
debentures in the open market ? Explain.)

b OO R ke o o e B2 s 2 T
uftaaiaaT @i raraat @ gut %2 0 (What is meant by
Conversion of Debentures ? Deseribe the methed of such a
Conversion.)

09 48, 1.1,2009 T R WERE HEA 9 15,000, 10%
ST, Weeh ¥ 100 |e] wH-ed or it faa = 31.12.2018
T 15% Ve U7 DT | ST et Gt o, SR S
10% Tt =61 Forebers gratraTe vt # A fawife @ Fofa




o )]

) =EE #4  1,000 gY (The expenses of realisation
amounted to 3 1, 000 )

(vi) 23,000 % Tafem =i et 1§ == &l 77 8, 6 e W
Fge 801 (lnvestments worth T 3,000 were not
recorded in the books and realised at the same
price.)

w5 g A w0 T AT @ SEd | (Prepare
necessary Accounts to elose the books ef the firm)

T 29, A, B ¥ C wsh e H ATEEE G504 3 3 86 3
e At 1 1.4.20113 5T S v o ase & e e
31 f A, B 3T C = 9 ween: ¥ 1,265,000, T 45,000 3072
15,000 (3faz) €1 Fam 223,150 & 2iiv 2 3 s ¢ 4,520
off | et @ ¥ 1,44,910 0 Y 7 e & = ¢ 1,860
&ua@mmammm@m Z9IEA | (A, B,
and € wero partners in a firm sharing profitsin the ratio
of 4 3.3, On 1.4.2013 they decided to dissolve the firm.
On that date Als capital was ¥ 1,256,000, B's capital was 3
45,000 and C's capital was ¥ 15,000 (Dr.). The oreditors
amounted to # 23,160 and Cash-in hand was= 4,520, The
asséts realised € 1,44,910 and the expenses of dissolution
wereZ 1,860, Prepare Realisation Account and show your
workings clearly.

W B0, T AT S A & 2 SR SEgER e
Ay (What do you understand by Company ? State its
essential features.)

YR, ST 26 TR e AR (State various types
of Conpaiy. ) ‘

Ty 32 M%mﬁﬂwnﬁﬂﬁm (Deseribi
nh,eqmpmmnt dbeuments of @ company)

wow A8, T, fo7, 3 Rt aitiee Usi € 30,00,000 §,
O 39T g 1 2,00,000 WAaT Ser Ul 3912 10 4r 10,000
axferars sier Wit 2797 € 100 H Eiey war s H fHwg =6 e
60,000 AT 2497 AT &,000 AT iy =1 yeara fean | e
T 2 ST SR S aed T feretor foet wer e
TS T 10%, STHET U 309, WeId | 0¥ 30% e fgea
ug stfan i w 30%1 (The Roshan Co. Lid., which has
been registered with an Authorised Capital of 7 30,00,000
divided into 2,00,000 Bquity Shares of 2 10 each-and 10,000
Preference Shares of ¥ 100 each, offered to the public for

subseription 60,000 equity shares and 8,000 preference
shares. The amount payable on both types of shares was
as follows : 10% on application, 80% on allotment, 30% on
first call and 80% on second and final call.}

el afit we, S 500 THar 2097 o st wiw aE
AT GO0 TR 39T Form uv waw e 3 f-ae W e W T
e, TR U AR o T (AT the shaves except 500 ordinary
shares on which final eall money and 600 preference shares
on which first and final ¢all money was not paid were taken
up and money duly paid.)

ST T T T T TS AT (S S <6 o aa
FHIfaT | (You are required to pass Journal and Cash Book
entries.) 5

WY 34, g wET T 7 T 10 UeE 906 85,000 FHe
379rT 2 rferem o S fae o w2 it feree & (Rudra
Company Limited issued 35,000 equity shares ofZ 10 each
at a premium of T 2 payable as follows) -

L CCpiens %8
On Application 28
IEE U 2 5 (arfermrey ulEm)

On Allptment 2 b (Including Premium)

S WA WS SaH 1T 9% (Balance on First and Final
Gall)

g = gt HU Y st feEn TE o qar A ai e
e faRan T OT1 BY W] fiHes i g § s
wfafizar @it | (The issue was fully subscribed and all

| the money was duly received. Recond Journal entries in
the books of Rudra Company Limited.)

Wy 86, a1, 77 10 wf sfvr sifera ¥ & 1,00,000
TTHET ST 7 125 ST § SHAT T e o e st e
&\ iyl e S AT 2R R B (Aman Lid. offered 1,00,000
equity shares of nmominal value ¥ 10 each for public

| subscription at ¥ 12, The amounts payable on the shares
werel ;

&
e 57 (On Application) 4.50
it mfe amees o [On Allotment
(including Premium)] 4.50
QU e ST AT R (On First and Final
ean .00

aafes e 90,000 Sl 3 o o | st g
TR T T &S, 2 ol e | fre 100 #y AT E,

e TE S AT ST IS T (e | SR Sl T e
e WA T eI OT 7 6 Wi e av @ frifea e
(The actual subscription was only for 80,000 shares. All
money payable by shareholders was received except from
My Sudhaker who had taken 100 shares but failed to pay
the first and final call. His shares were forfeited and re-
sold ata discount and re-issued to Prabhakar at 2 6.each.)

e P o ) e R e e s e e e
forgr @ meA | (Show Journal entries in the books of the
company and prepare the Balance Sheet of the company.)

Ty 36, WA ffEs wute siere 2 Wiftem e T 10 ulF st
B 40,000 39T =1 GreEwts AfyEE & fo Fife e, s
TIST et WemT W & off 2 STeEA W 3 4 Wi 31y, ArEeA w5
e 39T (S W) ST areEn 9 2 3wl v ) (Moni Lid.
issued for public subseription 40,000 Equity Shares of ¥
10 each at a premium of ¥ 2 per shaie payable as under :
on application ¥ 4 per share; on allotment ¥ § per share
{including premium) and on call T3 per share.)

0,000 3197 2 Tor. sieey urE gUI 48,000 39 & fow
S W WHATIA e # safes foan wa, Vi aree
ArEteRTT T e T | SEEH T UTE SATHen TV o SWE SwE
o 2 T ok fere fmar T off shwr 3, for 1,500 i srEfe




<7 ff ) SR e = e T v e e T R Brs et wetE w3 34,600 # = fen | e, T wen
e st g w fafd W 2 11,000 @1, Y 3 5 e WA T v A o A 6 wwe o ol e R ) e s
7550 2 | diar @17 2,515 o0 mE 7 e E | (They decided to dissolve partnership on this date and the assets, with
the exception of the investments and cash, were sold for  34,500. The investments, the market value of which at the
date of the Balance Sheet was = 11,000, were taken over at that amount by ¥; who also agreed o discharge the Bank
loan. The expenses of winding-up were T 550, the creditors were paid 2 2,515 in full settlement.)

el @, T wE T wEEE o e @ Ansd | (You are required to prepare the Realisation Alc, Cash A/e and
Partners’ Capital Alcs.)

AV 27, 30, A W ST E S e -ai wh AeE s " § ) TR, 30 feme, 2013 &0 v i feafe e e
AT i SR Tt FEE 4 (A, Band © are partners sharing profits and losses eq wally. They dissolved the firm on
30th Septeniber, 2013 on which date their position was as under):

arferens fergr (30 fammam, 2013 =)
Balance Sheet (a5 on 80th Sepltember, 2013)
(Ligbilities) (Amount) (Asszets) (Armownt)
T 4

st @ (Capital Afes) : 3 | sEm wEfeE (Fixed Assets) 1,00,000
F(A) 30,000 e T (Current Assets) 40,000
a(B) 30,000 F 7 {2 (Cash at Bank) 10,000

e} 30,000 90,000

AR (Creditors) 60,000
; 1,50,000] 1,50,000

el T 2 TR e ) L0/ S T B i =B ol S T T, A A6 R 500 F A U T A feer
o, e ) T e 41, 2 500 e | (Al thee assetsirealised 10% less than book value. Creditors were paid in fuli.
Expenses of realisation ameunted to 500 and a contingent liability for which no proyision was made paid at % 500.)

afEryEa @ a7se | (Prepare necessary Accounts,) _

T8, A, BT CF, S8 02 1 3 Srara H w w fererer e 4, 31w, 2012 %0 1w wrer < fae e Pt
Foar By 7 =veT anfefss fagr feraa a1 (A, B and C who shared profits in the ratio of 8 ¢ 2 : 1 agreed upon the
dissolution of their partnership on 31st December, 2012 on which date their Balance Sheet was as under) :

(Liabilities) (Amount) (Assets) (Amount)
4 T
s @ (Capital Ales) iRl (Machinery) 40,000
A 50,000 | &R (Stock) 8,000
B 10,000 | & (Investments) 20,000
giwet A 10 (Mres. A's Loan) 8.000 | g Sag Wi (Joint Life Policyl | 14,000
e (Creditors) 20,600 | FFER (Debtors) 9,000
e A et # (Joint Life Policy Fund) | 14,000 | ##% i3 (Cash at Bank) 6,000
ey F==EEE F (Investment Fluetuation C #1951 @i (C's Capital Alc) 11,500
Fund) 6,000
1,08,500 1,08,500
Freiaten wi-27 7 (Following transactions took place) : (iil) B refmm 312 7,600 # #1R 5,000% S9! @ 2 4,000
(i) e st i T 16,000 % AT AT feral 7T F e (B took over the stock at T 7,500 and Debtors
(The Joint Life Policy was surrendered for amounting to ¥ 5,000 at 3 4,000.)
%15,000.) . i) Tl & T 50,000 F1 Fgel g i I SR 8§ I
(i) A7 ﬁﬁmaﬁ % 17,500 | forr| =8 m i o . 1. 50% JT g4 | (Mﬁzr-y-r'ealised 2 50?;?);;13
TR T %G T g | (The investments were the remaining Debtors realiked 50% of the beok
taken over by A for ¥ 17,500. He also agreed to valaa)
discharge his wife's loan.)



209

" () v =1 et T 8,000, WA %12 28,000 74 5T 17 25,000 & | (Patents to be valued at 2 8,000; Machinery at

728,000 and Building at 7 25,000.)

(e) @9 2013-14 7 ferd w0y firse = 1 w7 =0 72 39T 30 50 ) (Profit for the year 2013-14 to be taken as having

acerued at the same rate as that of previous year.)

(d) T W 109 =i 7 = 20 (Interest oi capital be provided at 10% per annum.)

(e} i =i < Al & e = s g o @ (Half of the amount die'to Anil be paid immediataly. )

L 3R, 2003 1 e s, e @ st ey st & smiese 1 Em a #ie (Prepare Revaluation
Account, Anil's Capital Aceount and Anil's Executor's Account as on October 1, 2013.)

v 22, FH 3 for el (afiteate) § wd @ e
(Fmr) fepar = weEar £7 (How and in what eircumstances
can a firm be dissolved ?)

Y 23, FiEERT W % e et e Goed &
W W AT WA F 3eE Ri | (Explain the legal
provisions to settlement of books on dissolution of part-
nership firm.)

W 24, UH S IO YT eI e saa s e et
S (Give the Journal entries uf accounting treatment
on dissolution of firm. )

WA 25, X 3T Y wng-wif w5 3 ;2 % s ¥ frenfa
T B U ST A ) 3112018 i 37w fergr e wem e
(X and Y are in partnership sharing profits and losses in
the ratio of 3 : 2. Their Balance Sheet on 31st January,
2013 stond as follows) :

Balance Sheet

HEATE Rilid wrfrE ifer
(Lichilities) (Armount) {Assets) (Amount)
7 :
Tafa Fer (Sundry Creditors) 528 | T@FE (Cash) 863
w4 (Reserve) 500 | &7 {Debtors) [ 1,960
Fer 7! (Bank Loan) 1,000 | 7Ef#= (Stock) 875
I (Capitals) ; 2 e investment) 2,080
X 6,000 | e (Building) | 4780
Y 2,000 | 8,000 .
101028 10,028

T T 1 S T o1 wAr e o e e fri el T i dieen geefiet § 2 6,000 TR 30 FRm R Y # 22,200
F A EA W o S e S A e o we gen ) wA S = 3 110 800 SRR R e 1 603 Fr mn | 6
IR 7 ferd Srie WiafeEal 2 | (They decided to-dissolve the partnership on this date, The assets with the exception of the
investment and cash realised 26,900, The investment were taken over by Y at the market value of 7 2,200 who also
agreed to discharge the loan. The expenses of dissolu-tion were 7 110. The creditors were paid T 503 in full settle-ment.

Give Journal entries to record the above on dissolu-tion.

WY 26. XU Y wrgterl # €S 3/5 3l 2/5 % sy § wwy-mi aien #1307, 2013 # 3 snfen g e ar X

and Y are in partnership sharing profits and losses in proportion of 3/6 and 2/5. The followi ng was their Balance Sheet

asion 31st March, 2013):

afg= E wrafiat Tifor
(Wliubilities) (Amaunt) {Assets) LAmount)
2 : :

TR (Oreditors) 2,640 | == (Cash) 1,815
et = = fere @94 (Reserve for) faffedn (Investments) 10,400
Contingencies) 2,500 | R (Debtors) 9,800
e 72V (Bank Loan) 5,000 | @ (Stock) 4,375
T W (Capitals Ales) : . HIEEE W (Freehold Building) 22,500
X 80,000 | HA=E(Furniture) 1,250

Y 10,000 ! 8
50,140 | 50,140




" 20. X, Y #liv Z wEn £ e ema-wtt @ 5 ;3 - 2 % v © e wew ¥ 81 femw, 2012 % e Rt
2 regpectively. On 31st

Tagror feg o (X, Y and Z were partners sharing profits and losses in the ratio of 5 : 8
2012 their Balance Sheet stood as under) :

December;

Balance Sheet

Liabilities Amolnt Agsets Aottt
z - z

Sundry Creditors 27,600 | Goodwill 12,5600
Reserve Fund 15,000 | Buildings 50,000
Capifal Accounts; 3 Patents 15,000
X 65,000 Machinery 75,000

¥ 62,500 Stocl 25,000

7 37,500 | 1,65,000 | Debtors 20,000

. Cash at Bank 10,000
2,07,500 207,500

1w, 2018 %1 Z = e B =l § ) e A ue weHia 2 8 (Z died on 1st May, 2013, It was agreed that) :
() TE0fH &1 O TS S S R S T S 2% 6 % F 2 STERT R S | S T W 49— 2009 T 32,500, 2010 7 30,000,

2011 % 40,000, %2012,

£37,500, (Goodwill be valued at 204 year's purchase of the average profits of the last four
years, which were—2009 ¥ 32,500, 2010 T 30,000, 2011 2 40,000 and 20127 37,600)

(b) TrRfrTd w1 e 7 70,000; §5= T 20,000 9941 YEA € 62,500/ T 1 | (Machinery be valued at 2 70,000, Patents at

Z 20,000, Buildings at T 62,500.)

ey = 2013 3wl § Z = fer s @A 5 5, = 2012 % @) F1 @em meEnemEm | (For the purpose of caleulating Z's

share in the profits of 2013, the profits of 2012 should be taken te have

2012.)

been earned on Lhe same scale as in

SR SR 2B P A o (o) SEvEs SR watea qu Z 1 it G aed (Give the necessary journal entries to
record the above transactions and Z's capital account.)
WA 21. BLATE, 2018 7t AT, W 3T =51 3 ¢ 2% ST H ooy Forenifor et GUHSHQI & | STor1 qor-wA 1 ey
o1 (Anil, Bhanu and Chandy were parfners in a firm shanng profits in the ratio of 5.: 8 : 2 .an March 31, 2013: Their

Balance Sheet wag as under) ;

Erfers Eaikag aframft T

(Liabilities) (Amount) (Assets] (Amownt)
T T

ey FEm (Sundry Creditors) 11,000 | @7 (Buildings) 20,000
g F (Reserve Fund) 8,000 | "G (Machinery) 30,000
it @ (Capitals Ades) 2 Tl (Stock) 10,000
AT (Anil) 30,000 vz (Patents) 11,000
ST (Bhanu) 25,000 fafay Sem (Bundry Debtors) 8,000
74 (Chandu) 15,000 70,000 | T (Cash) 8.000:
87,000 87,000

1 oA, 2013 % e i weg | 9 T St S syt & wie vt @8 T (Anil died on October 1, 2013, It
was agreed between his executors and the remaining partners that) :
() =nfd 1 qeaE fawer Wi =l & sfm o % 2.6 @ % %9 & st g S 6 # (Goodwill to be valued at 2.5 year's
purchase of the average profits of the previous years which were):

a 2009-10 (Year 2009-10)
ad 2010-11 (Year 2010-11)
7 2011-12 (Year 2011-12)
il 2012-13 (Year 2012-13)

7 13,000
7 12,000
3 20,000
T 15,000




4, T g A £ (Patents are valieless.)

5. oERlE 2% w2 fie e E ) (2% discount is to be receiyed from creditors.)

g @, G @ e T e @ =gl #AEd | (Prepare Revaluation Alc, Capital Ales and the Opening Balance
Sheet.)

. IO LE- RIEHQH 6 HAh YT “?”'“fma‘i‘g AT AR o 17, A, B 3 C v i  wrdi # e wey Ry
i I:maﬂs‘u;l (ExPlam Accm_mtmg Treatment of Goodwill 3:2: 15 ATHR TR s ) Fafr o
on retirement of a partner.) L )

9 16, T e i ST o 7 AR 3 S T SAferes Tegr e we @1 (AL B and C are partners in a
WWWWWWWWWWWW firm sharing profits in the ratio of 31 2 - 1. A retires from
ST &2 (What is Joint Life Insurance Policy ? How is the  his firm. On that date the Balance Sheet of the firm was

treatment of Joint Life Insurance Policy on Retirement of a a5 follbwshz

partner 7)
Balance Sheet
Liabilities Amount Assets Amount
4 :
fafas FraEr (Sundry Creditors) 30,000 | = (Bank) 38,000
=7 e (Bills Payable) 7,000 | =R (Debtors) 14,000
#H=a wm (Reserve Fund) 12,000 [ =% (Stock) 10,000
a1 Es) (Outstanding Wages) 3,000 AEC (Furniture) 25,000
5l (Capitals) : x w&A (Building) 40,000
A 50,000 WAL ( Machinery) 45,000
B 40,000
(& 30,000 | 1,20,000
172,000 | | 1,72,000

 ZTERTE FE (] 7 (Retirement made on following terms) <
(@) TR T @A 9 A < 48,000 57 1 (Goodwill of the firm to be valued at T 48,0000
(b) et =) 109 @A €, =i w1 10% w2 €(Building have appreciated by 10%; stock depreciated by 10%) 1
(¢} A5 ek GO YA TeR S| He R0 S S o AT SR A9 s 6 R = s (A will be paid through Bank.
After using Bank balanceif required, necessary loan may be obtained from Bank).|

(d) Ben @ = FEa SrTE 5 : 1 27U The new: profit-sharing ratio of Band € is decided to be 52 1)1

S @ A AL A B O = e foeol R wife | (Give the necessary ledger accounts and the Balance Sheet
of B and C.}

79 18, W, 2013 7 3, = 3 T e i T T S o SR T 6 8 ; 2 3 A H Ferwtfi oA 7 (The Balance
Sheet of A, B and C who were sharing profits in the ratio of 5 8 : 2 is given below as on 31st March, 2013) :
Balance Sheet of A, B and C

(ason 31st Mardh, 2013)

Liabilities Amount Assels Antount
T 3

451 (Capitals) : z 4fF (Land) 4,000,000
A 7.20,000 =1 (Building) 3.80,000

B 4,15,000 Yo & mid (Plant & Machinery) 4,65,000

G 345,000 | 14,80,000 | F=L A fwfem (Furniture & Fittings) 77000

w99 14 (Reserve Fand) 1,80,000 | fafau &R@E (Sundry Debtors) 1,72,000
fafay SFEm (Sundry Creditors) 1,24,000 | ¥ (Stock) 1,85,000
T 7 (Outstanding Expenses) 16,000 | #= i3 (Cash in hand) 1,21,000
18,00,000 116,00.000




(G )
{16l ;

WET 12, X, YT Z 3 2 1o T H U W H SIS F 1 1 3, 2013 2 3R vl el w1 7 50 4 % e H aten
=at Trrofer famam 2=t fafa =it wmam wi=r T 76,000 it avafwet = griamt o et Ut T 68,000 = = 7| =z = e
for farg 2 sifengt =1 wefer fery Tar GmTETsT feram =T anfed | Wehe] TSTTe=n wiEites grr gumEism s (X, Y and 2 are
partners m a firm in the ratio of 3 : 2 : 1, On 1st April, 2013 they decided to share the profits in future in the vatio of 7
5: 4, On thie date General Reserve is % 76,000 and profit on revaluation of assets and liabilities being % 68,000. It was
decided that adjustment should be made without altering the figures in the Balance Sheet. Make adjustment by one
single Journal entry.)

Y 13, X A Y Ush sHadre S el 6 A H wen € 1 9 Z i el ek 1/4 T on ferd wnfe s € ) i X e Y R EEn
fear = | 2 55 way o gz TR o feafe faaeor e weam ar (X and Y share the profits of a business in the ratioof 5 :
3. They admit Z intp the firm for 1/4th share in the profits fo be contributed equally by X and Y. On the date of
admission of Z, the Balance Sheet of the firm was as follows) :

Liabilities Aot | Assels Amount
7 z

Z's Capital 40,000 Machineny 30,000

Y's Capital 30,000 Furniture 20,000

Fawi Afgid wm (Workmen's Compensation Stock 15,000

Fund) 4,000 | Debtors 15,000

Creditors 12,000| 'Bank 16,000
sfg=y fAfu (Provident Fund) 10,000, |

96,000 [ 196,000

O wA ) A E 9 A1 (Terms of 25 adniission were as follows) :

(i) 7" = T ) s wen =0 o e T 80,000 7 ) (2 will bring 3 30,000 fur his share of capital and goodwill.)

(1y) T T T e e S S 8 SATe Al 5 9 SR o i ok e e A e T i A 2 el wn
20,000 F Sreifen T 1 s % e W iR 12,000 wa o (Goodwill of the firm has been valued at 8 years'
purchase ofthe average super profits of last four years: Average profits of the last fouryears are % 20,000 while
the normal profits that can be earned with the capital employed are 3 12,000.)

(i) AR 2 12,000 B =0 gl A G T A4 2 e < 13,000 w0 ¥1 wiadz wre @ 2 1,000 ¥ =mE S
i(Furniture is undervalued by 2 12,000 and the value of sfeck is reduced to 2 13,000, Provident Fund be raised
by 2 1,000,)

(iv) 76,000 % eiqer) =i cide Tl g2 & | (Creditors.are unrecorded to the extent of T 6,000,

iR faem 8 g g, qEEn o e mm g X, Y ad % 1 el foEmm 79| (Prepare Revaluation

Account, Partners' Capital Accounts and the new Balance Sheet of X, Y and Z.)

WO 14, A S S et w2 1 H wten &, = faf e Freflem §-

Liabilities Amount Assels | Amount
) = 2

Bank Overdraft 15,000 | Sundry Debtors 40,000
Reserve Fund 12,000 | Less : Proyision 3.600 36,400
Sundry Creditors 20,000 | Stock 20,000
Capitals : Building 25,000
A 40,000 | Patents 2,000
B 30,000 | Machinery 33,600
1,17,000 | 1,17.000

wﬁﬁmﬂ*@%mﬁmﬂﬁrmmlwmﬁw T B/6 : 2/6 - U@Mﬁﬁrﬁ’ﬁwmwﬁ%mﬁmﬁﬁm
T 3 s1ER g el € (They admitted C into partnership on this date. New profit sharing ratio is agreed as 3/6 : 2/6
1/6. C brings in proportionate capital after the following adjustments) :
1. 2 10,000 =t @ @ e % 9 T 85 w0 #10(C brings in 2 10,000 in cash as his share of Goodwill.)
2. wfera me AEEE W1 T 2,000 F T2 E | (Provision for deubtful debts is to be reduced by 7 2,000.)
3, T IO TR € Fare Hem 2 2,600 % | T YEe 1 ) e ge ¥ T8 a7 R A fopeen #) (There is anold furniture
valued 7 2,600. It does not appear in the hooks of the firm. It is now to be recorded.)




WHT. P, Q 30T R U W H HTHER E W5« 3 - 2% S0
T w8 S R i e T3,00,000,
72,00,000 3T 7 1,00,000 €71 ad 2013 <5 feg 37es Tait @ #
89, SR BT 9 TR UX 109 SR ST 3 g Ut SIS hiee wT
TEraT T o | W SRR R vl fEvET g ATa v Aarere
fafee urfta ®ifsd | (P, @ and R are partners in a firm
sharing profits and losses in the ratio of 5 : 3 : 2. Their
fixed capital were 3 3,00,000, ¥ 2,00,000 and ¥ 1,00,000
respectively. For the year 2013 interest on capital was
credited to them @ 10% p.a. instead of 8% p.a. Showing
your working notes clearly pass the necessary adjusting
Journal entry.)

U B, A, B TE € wET & HEEE £ 1 30w, 2012
et e gt et A 10,000, B2 20,000 741.C 3 30,000 705
2012-18 % form # 12,000 =5 ST R0 12T 91| ATEvaes s
wfafie S, af gt ot s 129 Wi o oh wEet 109% wi o
1 AT W whiee fohan 4 B (A, B and C are equal partners.
Their fixed capitals 4s on Ist April, 2012 were: A2 10,000,
B T 20,000 and ' C 7 30,000, Profits for the year 2012-13
amounting to ¥ 12,000 were distributed. Give the necessary:
Journal entry if interest on' ecapital was credited @ 10%
pia instead of 12%pua.)

w9 9. BT &l e vz e § AEE € S 8 < 29 g
T T ST e B 1 31, 2012 Tt S g sAe: 21,000

30T £15,000 9ty FEvE wewE § 10% = =iites 21 | e |

mﬂmmwiﬂu 31 W1, 2018 T AT LA

T &2 | ' | e st farm fezarsd (Somi and

e partners in a firm, sharing profits in: ‘the ratio

o!' 3. 2. Their capitaléasat 1st April, 2012 were 7 21,000

and 2 15,000 regpectively, The partnership deed provides

interest on capital @ 10% p.a. The profitof the firm before

interest for the vear ended 81st March, 2013 is ¥ 3,000,
Show the distribution of profits) :

() B WIZERT & =7 HEEi & foh e qv s sy

AT wTE SHeR URUTTEEY W w0 & w7 @ (I there
isan agreement that the interest on capital will be allowed
even il it involves loss to the firm, and)

( b) T FHEITET s ST ok eidiehe saagr o e A ar R
TE UETT & A7 fatares &1 (U0 the deed is silent as 1o the
treatment of interest as a charge or appropriation.)

Y 10. FH AEE CHEETER A, B 79T C U FEE #6
# 3fte Fore el S e mr S E Tl o faTe 8 2 1S ST
e & (Three Chartered Accountants, A, Band © form a
partnership, sharing profits and losses in the ratioof 3 : 2
+ 1subject to the following conditions—

{(1):C 2h wey e fast =it et <f 8 & T 3% T 15,000 Wi
=% H = A A 1O s share of profil is guaranteed to be
not less then T 15000 per anmum.)

(2) B =9 =1 2 R 26T 2 ok SHEh g1 WH ok ferT 2
TRl TR 30k I g o e sl B sif sl W e @
HH a2, SAleh @5 YN STehe] whT TEr a1 (#HiEd T 25,000
Sffﬁﬁﬂg'%j | [B gives guarantee to the effect that the gross
fees earned by him for the firm shall not be less than the
average gross fees earned by him during the preceding
five years when hewasearrying onprofession alone (which
average works out at ¥ 25.000}]

TSN o WA =Y == i 2 75,000 %) B g W o e
I W R T 16,000 ¥ 1 (The profit of the first year of
the partnership is 76,000, The gross fees earned by B for
the fim are ¥ 16,000.)

SR F-E P T A W 6w, w@mn
femar 1 (You are required to show the Profit & Loss
Appropriation Aceount and Cutrent Accounts of the
partners.)

a9 11, R, haﬁﬂ‘mmﬁmgmm—mw
308 : 2 % ware 0 fRomtae A0 €1 31 mrE, 2018 @R
FanT SMEe gt = weae a1 : (R, Sand T are partnersin
alfirm sharing profits and logses in the ratio of 32 8 2,
Their Balance Sheet as on 31st March, 2013 was as
fallows):

e (Liabilities) Amount wrafrat (Assets) Amount
4 -
FMEN (Creditors) 73,600 | F= # s (Cash at Bank) 2 25,600
st @i (Capital Ales) : z #emt (Debtors) 90,000

R 50,000 HeETdl < WEEH (Less - Provision) 16,000 74,000

8 50,000 TEfir (Stock) 50,000

'R 36,000 | 1,36,000 | «= (Building) 60,000
2,09,600 | 2,09,600

7o Tt w2 Frote e fo safiven & wmneg & T =t 1/6 Tover T | 58 e ot Fovta feem fo wer =rr mpestierst ¥ 80,000
e ST, TEFeET W € 6,000 % i faAn S oft wigr wmol & feed yeem E ¢ 4,000 § %6 ) (On this date they
decided that in future T will gel 1/5th share in profits, They further decided that the building be valued at T 80,000,
stock tobe reduced by ¥ 6,000 and provision for doubtful debts to be reduced by 2 4,000.)

WAl 26 e o were ﬁﬁwqﬁwuﬁwmeﬁwmmu (Pass Journal

entries in the boole of the firm regarding the revaluation of assets and prepare Revaluation Account.)
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S

# gEAd (Other Informations)
(1) 500 T S fai g T 2 50 =t ==en §1 (There are 500 meinbers each paying an annual subseription of
T 5000
(93 2012 =9 =1 & 500 ==1 3747 +f =l ¥ (Subscription ¥ 500 is still invarvear for the year 2012,
(3) T 400 T = & & AierT w60 S7, 2013 76 1 = | (Municipal Taxes amounting to T 400 per annum have
been paid upto 30th June, 2013)
(4) 7 1,000 3w #wm =) (Qutstanding salaryis 1,0000)
() Fren % HTEW T 50,000 % vEE & 9O 5% i wm @ £ (Building stands in the books as 3 50,000. It is
required towrite off depreciation-at 6% per anium.)
(8), FAT T 5 WER = =y eifdd 2 o €1 (Interest on investment is aceried for 5 months.)
T 5., T S o TreteE Wi Ue e @ | 31 e, 2013 3 Ftr srE-= @A A ga fate @ fafe femro
FAEC | (From the following Receipts and Payment Acconnt of Satyam Club, prepare Income and Expenditure Account
for the year ended 31st December, 2013 and Balance Sheet as on that.date.)

Receipt and Payment Ale
(For the year ended 31st Dec,, 2013)
Rereipt’ Amount Paymerits Anmont
L4 4
Balance b/d “7.000 | Billiard Table 4,000
Donation . 2,500 | Salary 1,000
Subscriptions 6,000 | Repairs 250
Entrance Fee 500 | Furniture Purchased 3,000
Bank Interest 200 | Investment 3,000
Interest on Investment 50 | Insursnce Premium 350
Sale of Drama Tickets ! 600 | Stationary- 75
Drama Expenses 250
| Balanee e/
| 18,850
— =

(a) 92013 % fer o =1 ¢ 460 A9 2014 %1 wfE 97 A=12 175 [ (Subscription due for 20132 450 and subscription
roceived in advance for 2014 ¥ 175,) \
by =y FfEs @A) 2 26 | (Insurance Premium due 3°25.)
(¢) =7 3 50 Wi S e e T ] (50% of donation is to be'capitalised.)
(d) FE I ) SH FE A 7l 2 1((Entrance Fee are to be treated as révenue income,)
(e) T8/ 975 W15 < 8% =0l a1t ¥ | (8% interest has accrued on investment for five months.)
(f) Faerare 2R v o B w5 P T 2 w0 E 15,000 17 7 A 7 11,000 47 7R3 19 4 (Billard Table was purchased
lagt year costing T 15,000 and 3 11,000 were paid for it.)
H¥ 6. 31 T, 2018 aﬁm@ﬁaﬁaﬁmﬁsﬁmwmﬁawwm?%,oooa-a'ﬁwnﬁnﬁmm% sfafia
Wﬁwm% {Receipts and Payment-Account of Maitree Club for the year ended March 31, 2013 shows that the
subscriptions received were ¥ 25,000, Additional informations are as follows
1-4-2012 31-3-2013

T s
sy w1 (Outstanding Subscription} 5,000 3.500.
Zfim yr == (Subseriptions received in advance) 2,600 3,000

6 9012-13 % Foe == B v A = T FAE e 9= § wafan s e A 6 f=m Trafa Temmm # fawaren |
(Ascertain the amountof income from subsceriptions for the year 2012-13 and show how relevant items of subscriptions
appear in opening and closing Balance Sheets.)
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He 2. 1.4.2013 1 TR FEE F wEtal g9 wE & (0n 1.4.2013 assets of the Club wereas follows) :

N
w4 ud we (Land and Building) 2,00.000
b (Furniture) 25,000
214 71 g (Cash in hand) 15,000
30,000

s/ F= (Subseriptions Outstanding/Receivable)
1.4.2013 =01 =it (Liabilities as'on 1.4.2018)
e arfafeEH (Bank Overdraft) 10,000
ste® @ (Outstanding Salary) 15,000
a5 = wE 4 | (Find out Capital Fund.)
qyA 3. W wE % e Wi T AT @ # 3 e o e 81 fermre 2013 =1 dwE &Y (From the
following Receipts & Payments Afc of a Club; prepare an Income & Expenditure Afe for the year ended 31st December,
2013) :
Receipts & Payments Account
(Far the year ended 31st Dec., 2013)

wiftear T AT TR
(Receipts) (Amount) (Payrments) (Amownt)

3 z
7 (To Balance bid) 2,000 | A4 T wEed (By Salavies & Wages) 6,000
=1 (To Subgeription) : ey fmm (By Rent Paid) 12,250
2012 91,000 | Fefrrm =@ By Telephone Expenses) 8,400
2013 1,22,000 | #= (By Hquipment) 1,19,000
= (T [To Denation (Revenue)l 18,500 | =mEiera =57 (By Office Expenses) 22,760
g 7 (45 [To Adimission Fee (Capital)l | 28,000 f Hfem =1 ArRd By Secvetary’s Honorarium) 111,200
|| 4m(By Balance ¢d) 11,800
| 191,500 1 1,91500

FEAA—
(). = 2013 & ==y 9= T 19,250 (% 19,260 was dueas subscription for the year 2013)
(b) =@ & T 14,000 (Outstanding Salaries amounted Lo 14,000)
(¢) 3T 9E 260 WH (Bquipment were to/be depreciated @ 25%) |
TFAA. ﬁﬂwmﬁ@nﬁ—-wmﬁammmm,tﬁmw 3177, 2013 R WHTE el S SRl 3-SR W Ty
et Fafer a1 anfeden figr @E ) (From the following information and Receipt and Payment Account of Raja Club, Purnea
Prepare and Income an Hxpenditure Aceount for the year ended 81st March, 2013 and Balance Sheet as on that date.)
Receipts and Payments Accounts
(For the yeur ending 31st March, 2013)

syrfeerer TERH T T
(Receipts) (Amownt) (Payments) (Amaunt)
T 4
yriEE ¥ (To Balance b/d) 1,025 | ¥ (By Salaries) 5,600
=1 (To Subscriptions) : wm =4 (By General Expenses) 800
2011-12 400 | wEm =M (By Entertainment Bxpenses) 3,500
2012-13 20,500 | wwWER 73 (By Newspapers) 1,500
2013-14 600 | ot @ (By Municipal Tax) 500
= (To Donations) 9,600 | TA(By Charity) 3,600
wetea & 514 (To Proceeds from Entertainment) 5,400 | 129 17321 (By 12% Investments) 20,000
WAFET-TE & A (To gale of Newspapers) 450 | e yie (By Bleetrie Charges) 1,400
wf=m 919 (By Balanee bid) 1,175
37,875 37,876
e




[2)

v 76, Farfra ferautt 35 ferydieoy ok SEval @) He H Smen
i | {Briefly explain the objectives of analysis of financial
statement.)

g 77 fearsiva Tereuit S5 Tayeteror <6 a6 ol < Amga
([xplain three advantages of analysis of financial state-
ment.)

2y (Or)

Forsirey Forarrofi 26 Favsrguras vae ol Aem o sransd | (Briefly
explain the importance of analysis of finandial statement.)

Sy 78, TR o Tor fasa Tt 26 fewersy i Aae
HUET (How is analysis of inancial statements important
to the Government 7)

wyA 79, TR & fon, fesia femet 2 feavemon ==
Teegul &7 (Why is analysis of financial statements impor-
tant to ereditors?) _

e 80, e et o fergero i et o g |
=erEd | (Briefly explain three limitations of analysis of
financial statements.) _ ‘

o 1, diferst Fayeraot wen e o v FEyseon i s
=arEd | (Distinguish, bebween Horizantal and Vertical
A.n'al_vsis.) =

wv 82, fawia faam =1 @ favremmsd & aui #1
{Explain three characteristies of financial statement.)

viys 83, Tesfia Tayemon & Tore waE & arct S0ERT0T AT
T EA A 67 (What are the technigues or tools used for ‘
finan¢ial analysis 2) ‘ B _ .
(Describe the objectives of Comparative Financial Slate- ”
ments:) !

W 85, AEAIEE 304 faatur o fetur s fEE e
(State the preparation method of Comparative Income
Statement,)

Y 86, THT 31T ATe) faevil < R sEyA €7 (What are
the olijectives of Common Size Statement ?)

Y 87, qEETeT A e o We 2 | (Give a format
of a Comparative Statement.)

W 86, qerTee feaf feraror w urea d | (Give a format
of Conmparative Balance Sheet.)

W 89, TR SEHT s oA | (Explain Operating
Ratio.)

W 90, Tt o, 2 = B 3 ¢ 1§ afE gRen el
% 40,000 it = e, Ffae @ 80,000 ¥ 71 @ $ruE 719
1 (Rani Ltd. has a current ratio of 31 1. If its stock is
T 40,000 and total current liabilities are T 80,000, find out
its Quick Ratio,)

a1 91, et e § e (), S A s
(Caleulate the Liquid (Quick) Ratio from the following in-
formation) :

T uftaefal 2 33,000, Tl 2 5,400, YHEH #2600,
e AT 2 27,000 (Current Agsets € 33,000, Stock? 5,400,
Prepaid Bxpenses 7 600, Current Liabilities ¥ 27,000.)

WO 92, ST ST 2.5 F, Frdvie gt 2 1,50,000 &1 =1,
TR T =Te ST i e s dna | (Current ratio
is 2.5: Working capital is T 1,50,000. Calculate the amount
of Current Assels and Current Liabilities,)

WU 93, TIF FEE 2.5 : 1 ¥ =) wivemfiEr € 50,000
37 =T, e T 20,000 ¥ AW 2 0 1w o fe e
el T Tereee o e st e a7 (The currerit
ratio is 25 : 1. Curreny assets are ¥ 50,000 and current
liabilities are T 20,000, How much must be the decline in
the current assets to bring the ratio 2: 1 2)

YT 94 T T e wTe] ST 2.5 1% | FHeRT aeTl STar
1.5+ 1% e =, Aifa @ 15,000 & it wre) sftwmteet
Ten T ITeT AR OTAT ST | (A firm's current ratio is 2.5
1. [ts liguid ratiods 1.5 1.1t current liabilities are 2 15,000
palelilate the aniount of current assets and stock.}

W 5. T2 WaEe fera T & = 3Mgr &7 (What is meant
by Cash Flow Statement ?)

WU 96, TS WETE ARy ad qeg et w5 ()
e foramat, i) e feramait wdt (iii) fervira fomamsit & =ffem
=itee ) [Classity the following inte cash flew from (1)
Operating Activities, (i) Investing Activities, (iii) Finaneing
Activities while preparing a cash flow statement).]

(a) ®9T=1 =T 5 (Purchase of Machinery) |

(1) =TT w1 e (Tssue of Debentures) |

() TATST T HIAE (Payment of Dividend) |

1o} ) ST @ T (Payment of Lncome Tax) |

(©) GRTHRT aigrt w9 (Redemption of Preference

Shares)i

) =T R i (Intenest Reveived )|

(i) =TT A1 (Purchase of Goodwill)|

(h) et @i feEn am gE (Discount allowed to
Customers) |

qyF 97, TS WETE FEEEy B FEE e Hree-g
(wiiTTe) o srE fafir= e -aredl = o wam S
feram AT £7 (How the various activities are classified (as
per AS-3 revised) while preparing Cash Flow Statement 2

g 08, T s e or 2 SuuTil el S it | (State
the uses of Cash Flow Statement.)

TR 9. T TS WeTE FaaTut Sh A s o Seva aE e 7
(What are the objectives of preparing Cash Flow State-
ment ?)

e (Or)

Frere waTe famreun sl e fewar rer % 7 (Why Cash Flow
Statement is prepared ?) _

uvH 100, 37 TT=E) F e i —iwg qrd T, T

wareE | (Explain the tevms : Cash Bauivalents, Cash Flows:)

[ 3R 'a'l'lﬁ qUs (5 Marlz Q:L](-!Sti@ﬂh"

W 1. Frergeem & 31 faer, 2013 w0 s & & g
T T S T H T el ST T S e T ah e
ST (From the following information; calculate the
amount of salaries chargeable to Income and Expenditure
Acentint for the yearended 31st December, 2013):




=

T ST TR 3T 600 39T FEY werw Wi T W T g
(A Priti Ltd, was formed with a capital of T 10,00,000 in
shares o7 10 each. It offered to the public1,00,000 shares
payable at 2 1 per share on application, ¥ 2 per share on
allotment and 2 3 per share on first call. The balance of ¢4
per share was to be called in case of necessity. Applica-
tions were received forr 80,000 shares and shares were
alioted accordingly. All the money was duly received with
the exception of allotment money on 300 shares and first
call money on 600 shares.)

weft FF-= =5 wiaear Fifeg | (Journalise the whole
of the transactions.y

wo 59, 24y us FuTR H e =) (Distinguish
betwesn Shares and Debentures:)

W 60, FEOTTE ok fafe= weRrdl o =i w0 (Hxplain
different kindgs of Debentures.)

av 61, wew etz A 15,000 o ol 2 10 w0
oy Stifen 26 WeRTT ool % (Satyam Ltd. issued 15,000 deben-
tures af 7 10 each, payable as follows) :

% 2 TEEA W (7 2 on Application)

% 3 @mEzd 9l (% 3'on Allotment)

% B 9aH T e i 7 (T 5 on First and Final Call)

it -y fenfforg g et TR T S T W
T | e TeeE it e (All the debentures were
applied for and allatted. Allmoney duewere received, Pass
necessary Journal entries.)
91 62, YR R A ST 1 a2 100 o oA
ATEY 1,000 FTe Gt fd =i £ 30 W ROTTH S W,
50 T FFUTUEH STt AT YW AT W ad 1 800 3 T
& foT AT W g AT T T eht fear ] HA
mﬁﬁ*ﬁfaﬁﬂw%ﬁnﬁﬁmﬁmﬁ Trems weEr Al
o T

Sharad Ltd. offered for public subseription 1,000
debentures of 7 100 each payable as T30 per debenture on
applieation, T 650 per debenture on allotment and the
balande on 4 call. Applications were received for 800
debentures and these were issued. All the calls were duly
made and money due thereon realised in full, Show the
Cash Book and Journal.

w9 63, HiF Fe, 312 100 378t 4,000, 8% FTIR 10% Wit
o et Forat Pt o 20 a1 v U Iy i wige st
o & 41 ¢ 500 FEOTTEA B PO Y e g | e i g o
Sl 3 sayEeE o Hr | ' '

Maona Ltd. issued' 4,000, 8% Debentures o2 100 each
at a premivm of 10%, payable T 20°0n application and the
balance with premium on allotment. Expenses on issue of
debenturesamoutited to 2500, Pass the necessary Jotrnal
entries in the books of the company.

O G, R R e T H e o arat e | (Give
any two differences of Bond and Debentures.

T G5, ' FHUTIEL TR e H § oivee | a1 sy (Slate
the meaning of Redemption of Debentures in Profits.)

v 66, 2f TR S ST H e Tl AT o ATEHEA
2 g a-aiE 4 e suees & 7 (What options ayailable
a company for allotment of debentures in case of over
subseription 7)

U 67, FYTEHT AT SEOTTASNT W g A 2 =ATE |
(State any three differences between Shareholders and
Deben-turehslders,)

W 68. T W FiTsen o A & S s e, 1956
o ST V1 (ETiTE) 2 AT 1 S SFHR TR el o Hiideh
frgr o AT ST g it o swarta fadl Wi €1 (List the
major head under which the Equity and Liabilities" are
presented in the Balance Sheet of a company as per
Schedule VI (Revised) Part 1 to the Company Act, 1956.)

w69, U w3 sy fag # HEE war SfE
it 2R T Wi @1 W Aol wa A ferd ) (List the
name of items that are o be presented under the heading
‘Reserve and Surplus’ in the Balance Sheet of & Company. )

w70, Freffas we w feafd e 5 wefa gar J form
iRt 25 st fearn sra? (Under which headings the
following items will be shown on the assets side of the
Balance Sheel 7)

(1 e e (Land and Building)

(ii) Tofae 2iEd (Sundry Debtors)

(iii) =i (Goodwill)

(iv) u=RwEl (Patents)

() ‘tITﬁ;Hil?fiﬂMnrkii‘nf Progressg)

lvi) w9Er (Live Stock)

e 71, e e e @ nfde fagr W
st o 2 femTan 2 (Under what subheadings will
you show the follawing items in the Balance Sheet of the
Company) ?

(i) et e (Long term Inyestment)

(i) w=r T (Motor Car),

{iii) afsfi &5 Foriom 90 82 (Discount on issueof shares),

{iv) oA (Debentures)

W 79, Fretefas wel st w4 anfees fagr s R
wiieRl & ar=ria femarait 7 (Under what headings will you
show the following items in the Balance Sheet of the
Company ?}

(i) svres e (Unclaimed Dividend)

(ii) wnfeas =9 (Preliminary Expenses)

(i) sifEns araemt (Calls in advance)

(i) 1o feret 7@ 39T (Forfeited shaves)

ty) =T ok fa wrasne (Provision far Tax)

o 75, Fasire e =6t S Wi wwE) (State four
limitations of Financial Statements.)

wva 74, Fasirr T 3w 3y £7 (What are the
ohjectives of Financial Statement 7)

O 75, 3 TRt S ST TR feen s e e
T oh anfern Tergl el e = (Name the
sub-headings under which ‘Current Assets’ shall e
clussified in 2 Company's'Balance Sheet.)
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Wmﬁmﬁmmwﬁrﬂmﬁmmﬁ
mmﬁ@@mﬁéﬁwﬁmaﬂﬁuﬁﬁzﬁu
(Caleulate gaining ratio and give necessary Journal entry
tor the treatment of goodwill on Chander's death without
opening Goodwill Account.)

e 45, 'wE', = 3t e v B TS € ST 1 2 2
5 e B wsd T ferTe F §115-2-2013 Colncic oot
B o F uE ' B A e - T ST 3 2
T g O R T 780,000 T wFEife e T
(8, T and U are partners in fieny sharing profits in the
ratio 6f 1+ 2 9. On16.2:2013 S diad and 'the hew profit-
sharing ratio of Tand Uwas 3 2, On 9's death the good-
will of the firm swas valued at ¥ 80,000.)

(Caleulate the gaining ratio and pass necessary Journal
entry on/S's death for the treatment of goodwill without
opening Gopdwill Account.)

w46, P, Q3 R et w1 20 2: 1 S T | el
ated §1 QA Y 15 71, 2013 1 & T FErE T e e
i EAd e & (P, Q and R are partners in a firm sharing
profits in the ratioof 2:2; 1, Qdieson 15th March;, 2013,
fihe policy amount and surrender value of the partners
are)

T T HEHT
(Policy Anount) (Swrrender Valie)
i z
iizd 70,000 30,000
Q. 50,0000 30,600
R 55,000 25,000
S AT B @ o Tew @i O Hifau ) (Caleulate

('s share out of the Life Policies.)

uﬁ:t?.mg‘mﬁéﬁwwafwmﬁﬁmﬁ ST VB |
(Distinguish between Disselution of Partnership and
Dissolution of Hirm.}

A 48, T T U FEE @ § S "
(Distinguish between Revaluation Aceount and Realisation
Account.)

WP 49, TE T FT ST WEENT o oy H I AT
(Distinguish between Pirm's Debts and Partner's Debts!)

797 50 il & ferre v fore 3 ford i whafe
(Journalise the following on dissolution of a firm)
(BSEB, 2010)

(a) =Ee =M % 2,000 F T (Redlisation expenses

paid ¥ 2,000,

(h) 7 2,000 Fgef == HEEL AR =1 7 (Realisation

expenses amounting to¥ 2,000 paid by PartnerA.)

s 51, Fre ot § s o st forg S el =t
= form wew wEn wid? (How will you deal with the
realisation expenses of the firm of Rashmi and Bindu with
following cases 7)

(i) =] e e 1,00,000 1 (Realisation expenses
amount ta ¥ 1.00,000,)

e Z A T T 30,000 F AT 1A 3 e
(Realigation expenses amounting to ¥ 30,000 are
paid by Rashmi, a partner.)

Pyt <6t R 361 O O 3 e TR A Sl o
e Fory & P T i FeEToreR % 70,000 f& =
Tfem w1 ArETEE = T 1,20,000 fFA AT A
(Realisation expenses are tobe borne by Rashmi
for which shewill be paid # 70,000 as remunera-
tion: for completing the dissalution process.
The actual expenses incurred by Rashmi were
7 1,20,000.)

w9 52, Uk T o e 7 FreAfetiad or-2a) <n fr 2
@ﬁﬁumﬁhﬂ-ﬁﬁa@wﬁmﬁﬁﬁmmaﬁr
% (What Journal entries would be passedl for the following
transactions on the dissolution of A firm, after various
assets (other than cash)and third party's liabilities have
been transferred to Realisation Account) :

(i) wEER AT 60% Wi 956, T FATE T ] (4R
T T 20,000} ) |A, a partner, took over 5% of the
stock at a discount of 26% (Book yalue of stock
2 20,000).]

S Tafas =) 106 1 @ W @=L (Balande of
stock wassald at a loss of L0%.)

(i) e B e e w0 s A e 2 40,000 TN
w1 (Compensation to an employee paid by the
firm amounted to ¥ 40,000}

7 5,000 %1  wifean w41 o B 3 4,008
femt| (There wasan unrecorded asset of T 5,000
whichwas taken over by B, a pariner at 7.4,000.)
i A 3 s e 3 € 5,000 F A @ AR T
Ferem 1A, a partner, undertook to pay Mrs: A's loan
of 5,000.);

YA 53, EtferRT 3T U T S ¥ 3t maee | (Dis-
tinguish between Preference Share and Equity Share.)

o B4, 311 BTt wiem H 3w FaE) (Distinguish be-
tween Share and Stock.)

WO 55, 3791 3T FmuTes 3 wAey | (Distinguish be-
tween Shares and Debentures:)

v 56, qaifereTt 3fer 2 W A AU # | (Bxplain the
kinds of Preference Shares.)

T 57, T S TafaT=t wehT @ @i =i | (Explain the
ditferent kinds of Debentures.)

w9 58, ifa etz = fwfor 10.00,000 =1 it @ T E
St 7 10 7% sfii # fnfam &1 TE AT @ 1 T 3 o T
ST ST St g fored € 1 FerE o T, T 2 e o
e 31T 2 5 T T Y VAT S 9T R 4 i A sreryer
g oT S E | 80,000 ot 2 T aTTaEs Wie g, i ST @
syt o T | W TR e W g R T 300 i

(1i}

(i)

{ii)

(1v)

()



e

&
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in the ratio of 3 2. A new pariner R is admitted. P
surrenders 1/5th share of his profit in favour of R and Q 2/
5th share of lis profit in favour of R. Caleulate the new
ratio of partners.)

F 82, o AT A FSE £ W et 4 1 H Sied ¥ 3
St e T 14 e S Fo A 1/2 o e e e
1 T T WIS | T i S T S w0 A (A
and B are partners sharing profits in the ratio of4: 1. A
surtenders 1/4th of his share and B surrenders /2 of his
share in favour of G, a hew partner. What is the sacrificing
ratio and the new ratio 7)

v 83, A, BRET C WIS § w1 A @ 3 2 19 2
F ated $1 TR0 D @ 16 w4 3 ferd aftefor famar | =g wenia
72 o © a0 T TUTR T & TR A SO T I S
A AT (A, B and C partners sharing in the ratio of

3 :2; L. They admit I for %Lh share. It is agreed that C
would retain his original share. Caleulate the new ratios
and saerificing ratios.)

WO 34, T S A WHEW E W wAre-at w2 =
T aifed € ) e S e # 14 T o Tord W3R
St | Sre v fama v 1T =T & WA S H T
+1 3r2 ¢ 16,500 Fofi 3 w9 H 30 7 3,000 B T T
FATET N (X and ¥ are partners sharing profit and losses in
the rationf 2: 1, They admit Zinto partnership with 1/4th
share in profitswhich he acquives equally from X and Y. Z
brings in 16,500 as capital and 33,000 as goodwill in

Sty il o i i - S g
(Pass entries and caloulate new profit sharing FAtES)

T 35, SR, AT ST S T T f aTger €50 5
© 3+ 2 3 AT B A (TS A £ AT AT W ST
T R A () ST SRy T A &, () ST SR
TEOT FTAT ¥, (¢) S AT TeT A &1 (Alok, Ashish
and Anurag are partners in a firm sharing profitsin the
ratio of 5+ 3 2. Caleulate Gaining Ratio if (a) Alok retires
(b), Ashish retires (¢) Anurag retires.)

wo 36, P, Q 3t R SRR E S 5 04 1 3 % A H
ey e S £ | Q HAETRTYT TETT A & 31T 30k e
= P i R # s wte fear e P s R w4
=TT 3EHE FJ el (P, @ and R are partners
sharing profits in the ratio of 5:4 13 Q retires and his
share was divided equally between P and R. Caleulate new
profit sharing ratio of P and R.)

W 37, A, B 37T O we i i WIEEn & A e % % ;
3 ST H wied §1 B EE T A A 3 € =T AT
T Wa’lﬁﬁi‘l (A, B and € are pariners shiring

g
B

: i
profits in the ratio of = 3 ‘3 B retires. Caleulate new
profit sharing ratio of A and C.)

W 38, X, Y ot 7 Forlt e 9 4 3+ 23 3 WEET
%\ v SrEeRTYT TROT AT B X 30 2 wfes i 5 ;4 9 S o

ST Atz = ot e | e wife S w7 w1 (X,
¥ and Z are partners sharing profits in the ratio of 4:3: 2.
¥ retires X and 7% decided to shave profits in future in the
ratioof 5: 4. Caleulate Gaining Ratio.

WS 30, T, Sra 3 e e v e ¥ e
71 4 2 ST 3 TerTire et ¥ 34T v el e s e
26,4000 e ST B\ v e # @t w f @
% i aitt S i © wur amuE # e faariee S
ST ST TR EEE # | Tl ok (e aav e Ui sE |
(Megha, Shreya and Bhawna are partnersin a firm sharing
prafits in the ratio of 7 : 5 © 4. Bhawna retires and the
gondwill of the firm is valued ¥ 64,000. No gooidwill account
appears asyetin the buoks of the lirm, Megha and Shreya
will share future profits equally. Pass necessary journal
entries for goodwill.)

W 40, P, Q 3T R wek v H T 3 o 6 € R
STEERTY TR AT E ST v Y e o geie 2 36,000 fERur
AT B | i T B et fer T & P et Q wieed i
3+ 9 % e e fewTr 26 fore wewa da ¥ 1 @t < e
yfafez w¥1 (P, @ and R are equal partners in a firm. R
retires and the goodwill of the firm valued at 3 36,000. No
goodwill account appears as yet in the books of the firm. P
and @ agree to share fiiture profits in the ratio of 3 : 2. Pass
necessary journal entries for goodwill.

Qo 41, T TTHETE 34 T S A0 3l i ?
{(How will you compute the amounf due to a Deceased
Partoer 7}

T 49, R WISET S G @ el W wEe) (Pre-
pare a formate of Doceased Partner's Capival Alc.)

W 423, T, P ST Sl Uk T A EE & | 28 e,
2012 =R Wil 1 Frer 2 T | FAE fEE o ey @6 T T
e e A T 26 e A A 3 S T o S
ur e T T 2009, 2010, 2011 & @ R T 704000,
% 80,000 27'90,000 4 | (Modi, Shahi & Joshi were partners
{n a firm., Joshi died on 28th Febroary, 2011 share of profit
from the closure of the last accounting year till death was
%o be calculated on the basis of average of three completed
years of profits before death, Profit for 2009, 2010 & 2011
were 2 70,000; T 80,000 and T 90,000 respectively.]

e T T S R fe TRt sl g fd savas
et or v it | (Caleulate Joshi's share of profit till his
death and pass the necessary Journal entry for the same.)

WO A4, TR, S ST e s v wTEETY & A
9 1 ; 2% SaTa  fernfsa s 911 15.2,2013 %1 St i 9
g affe A i e & el - FaTe SrEE 4 1L E
=TT T e 7 W ) AT e T 180,000 9T feram
Tl (Chander, Tara and Ravi were partnets in a {irm
sharing profits in the ratio 2 1: 2.0n 15.2.2013 Chander
died and the tiew profits-sharing ratio between Tara and
Ravi was 4 : 11. On Chander's death the goodwill of the
firm was valued at ¥ 1,80,000.)
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2)

o

: A, B and C. After preparing Profit and Loss Account for
the year ended 31st March, 2013 the following omissions
were discovered) :
(i) EEE A Wi F6 T 2
22,000

(1) Frréror v el wnr ST = T 4,000 (Lnterest acerued
to the fim on investment 4,000

(iiiy #TgEr O =i HHI9E T 14,000 (Conimission Lo
Partner C3 14,0000

RIS F-1e1 Wl Shifsw | (Pass necessa vy Journal
entries.)

A 18, T S T Uk vl HIEET €1 A e
= U Y65 AT 10% B S0 H S W w8 g w6t qr
T ST o Y Y15 1 T 5% o6 20 5 g W g ¥
ST e T BT T 2 1, 10,000 47 | ST SIS o SHHIvH
=Rt T wherel | (Bhanu and Bharti ave partners ina firn.
Bhanu is to get a commission of 10% of net profit before
charging commission while Bharti is to get a commission
of 6% of net profit after charging all eommission, Net profit
before charging any commission was ¥ 11,000. Calculaté

000 (Salary fo Partner A

commission of both the pariners.)

YT 19. T, FHIHA 7T o S & 5 et g
o O ETed ) 1 31T, 2013 S - -ﬁ-rﬁ:nammm
ZTTATA H EiEA w1 Wend G | - fE AT 3 | ufte wr
ot v wr-wfeem 9 2 1,60,000 = 2fE v o aEvEs
e wfafe S (Putul, Komal and Priya are partners
sharing profits in the ratio of 3 :

‘dateof change in the profi la-sharmg ratio, the Prolit & Loss
Account showed a debit balance of ¥ 1,60,000. Give Lhe
necessary Journal entry.) ‘

WY 20, WIATEET, e ST YR Uk e H WEER &S e
w1 203 ek oy e st €1 31.03.2013 <Rl SR
Tearfa-fammor = wrar= w= 5 2 24,000 26 FHEIE ) 1.04:2013
W F WA TR A # A | S0 S S WHTE s
& ol anavas ww ufale s oz A, EEet o
g T WA e WA W g T e e ot e
(Meenakshi. Babli & Puja are partnersin a firm sharing
profits in the ratioof 1 : 2 : 3. Their Balance Sheet as at
31.03.2013 showed a balanue of ¥ 24,000 in General Re-
serve. From 1.4.2013 they will share profits equally. Record
the necessary Jeurnal entry to give effect to the above ar-
rangement when Meenakshi, Babli and Puja decided not
ta close the General Reserve Account.)

WYH 21, T 2R e whi Tt o AW 2 (Qive the
name of the methods of yaluation of goodwill.)

W 22, TEIA w1 wTE SR A i e i gaE)|
(Explain three factors affecting goodwill.)

Y 23, MEF ok TWTF 2 SHT T h UH 5 Y
AP | (Give the name of nature of goodwill on the basis of
nature of customer.)

: 2) On April, 1, 2003
they ngreed ‘to share profits and losses equally, On the

WO 24, T T e s e Tt wen sfaery e §
=i waigy | (Distinguish between Average Profit Method
and Super Profit Method of caleulating Goodwill.)

HYH 25, TER TR s =T e 5 ael S siae e 2 A
oTe wha U ST ST & | O B WeRIT E ¢ (The goodwill ofia
firm is estimated at three years purchase of the average
profit of last five years which are as follows) :

Years Profit FLogs (3)
2009 1.00,000
2010 1.80.,000
2011 (70.000)
2012 1.50,000
2018 140,000

wye 26, fordiam 7 Forom =1 = | wAe, 2014 1 @R,
e H gd T S SR efetes S w5 g
(Priyanka bought Nisha’s business on 1st January, 2014,
The profits disclosed by Nisha's business for the last three
vears were as follows) :

Year Profit (%)

2011 20,000 (T 25,000 = TV Aieh)

2012 25,000 (2 5,000 &= 7 HiEm

2013 22 000 (22,000 =t fiFem 74 7=m 7 & 5

ezl e il A
mﬁmwnﬁﬁhaﬂ% aﬂwm#gﬁwﬂﬁm
{Caleulate the value of Goodwill on the basls of two vears

purchiase of average profit of last three years)

W9 27, WH WA 26,00,000 Fi d5f 5T 2 80,000 F

| &1 s sy =5t gt 10% &) S e st <k dit ot

1w &1 i T w5 e FEfEE | (A finn earned a
prafit of T 80,000 on the capital of T 6.00,000, Nurmal rate:
of return is 10%. Caleulate the value of goodwill at three
years purchase of super profit.

WY 28, ek WY T1%2l gre TSy el SiTaT 7191 2 50,000 %1
T AR o AT N A EI A ST 10% 2 W E T 4,00,000
T G o & | S e gt fafl 3 Sraw o sy w5
TUETRITAT) (A firm Lakshya Enterprises has an average
profit ¥ 50,000, The normal rate of return in similar type
of business is 10%. The firm hasemployed a capital worth
¥ 4,00,000. Find out the value of goodwill by capitalisation
method.)

T 29, T oh He s H SEiE HIF- |0 2 I e |

(State the application of Accounting standard-10 with

reference to goodwill.)
A 30. T B W E 7 (What is hidden goodwill )
TR 31, P #it Q w v B wriEr € B w-wii e 3
2 ¥ @ied €1 R Uk 797 WEEE o T P, R e e
et &6 146 Tt gt T waT & 5 Q, R o6 ford s wndl
215 T =T AT SR & | TSI = T4 S{{HTR o6l 0T sy e

(P and Q are partnersin a firm sharing profits and losses




uyst 7, e geeT @ o qen = e ST (From the
Agccount) :

== § @ (Income from Subscriptions)

= e (Salary Paid)

1 7 3 B aEw 9E (Oulstanding Salary at the end of the year)

T wE apEd g (Printing and Stationery)
eyl 3= (Entrance Fees)

= T (Donation Reeeived]

wmiyfEa =3 (Office Expenses)

faia A (Miscellaneous Bxpenses)

following information, prepare Income and Bxpenditure
X
2.20,000
20,000
6,000
4,500
20,000
10.000
15,600
34,000

a8, FeT et | A 2012-13 5 ara-saa T A fe@ = At @ 6t e @ moe 1 (From the following
statements, calenlate the amount of subseriptions to be shownin Income and Expenditure Ac¢count for the year 2012-13.)

Receipts and Payment Account (2012-13)

Receipts Amount, Payments Amount
T T
Subscriptions T
2011-12 20,000
2012-13 1,80,000 :
2013-14 16,000 | 2,16,000
2,16.000
—— e
sifafiter geae (Other Informations) : Z
(1) #=d == (Outstanding Subscriptions) 81.3:2012 30,000
(2) zEw == Outstanding Subseriptibns) 31.8.2013 40,000
1) 2019213 3 fam 2011-12 5 wfim == (Subseription téceived in advance in 2011-12 for 2012-13) 26,000

s o W Tl A el geerd it | (Mention
any four provisions of Partnership Act, in the absence of
partnership deed.)

YT 10, ST S =T 9T sl #argy | (State four
characteristics of Parfnership!)

won 11, TrE g et uftamavite g o s e
(Distinguish between Fixed Capital and Fluctuating
Capital.)

W (12, e A e Feort &, Wight 2 g | w0
@ H I TR (When capitals are fixed, distinguish
between Capital Account and Ctirrent Account.)

WO 13, TN et T ST F - E R B
T sy w@aEw) (Distinguish between Profit and Loss
Appropriation Account and Profit and Loss Adjustment
Accounl.)

T 14, TR AT T ek O ST &, S eI 3
2 %5 SIFAT B e & | e s e T 80,000 FA1R 50,000
¥ | W HerE S STAT e Ates 8 e et v s 5% 9
1 ST ¥ | ST E R g v o o o6 eE 2 7,800 B
oz ot i fis wrERET § ey 6 fawro fen e fear
ST 3 YT =T e | (Jyoti and Rachna are partners:
in a firm sharing profits and losses in the ratio of 3 : 2.
They have capital of T 80,000 and ¥ 50,000 respectively.
According to the partnership deed, they are entitled to
interest on capital 5% before dividing the profits. During

afea (T

the year the firm earned profit of ¥ 7,800 before allowing

interest. State how the profits will be divided between
partners and preépare Capital Accoynts.) ;

o 15, X 3T Y WEE 10X % ¢ 10,000 3 ¥ =
26,000 ) T T @I 6% &t H a@ £ Y wie 300 Wi
T W A o oh AR F | Y 8 S 9l w e e
et 2 fom vl T TR 08,000 F1 X 3R Y H wy = femr
TR (X and Y are partners. X's capitalis £ 10,000 and
Y's capital is 7 6,000, Interest is payable @ 6% p.a. Y is
entitled to 4 salaryof 7 200 per month. Profit for the current
year is 2 8,000 before interest and salary to Y. Divide the
profit between X and Y.)

Ty 16, e T T Uk i HIgE € | g
SR ATl 7 | W o Wit SIET 2 2,000 € | SR 10%
Wi e 1 B T T & | YT oh AT 6 Ay 2013
foms =TS T T TR A (i) ST Ve WE o e o
Foan ST 1 1 11) e Welleh Wi 2 WA H ferar S w1 (i)
T Ures HIE 3 31 W {ehar sl &1 (Shalinee and Rachna
are partners inca firm. They share profits and losses
equally. Their monthly drawings are ¥.2,000 gach. Interest
on drawings is to be charged @ 10% p.a, Caleulate interest
on Shalinee’s drawings for the year 2013 assuming
drawings are made (i) in the beginning of every mpnth,
(ii) in the middle of every month, and (iii} at the and of
every month.)

A9 17, T W & A EgE §-A, B U C1 31 =@,
9013 = WA = 3 o A e W @I A F o
it el (Omissions) &7 Ga =@l < (A firm hasthree partners
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wy 76, 9 W vt % e 3 s st e o
anifeter Targr 3wl way =71 W Srfiea @1 <Al €1 (State the
major heads under which the terms appearing on the asset
side of 2 Company’s Balance Sheet are classified.)

o 77, Tersta Tt 3 faversor & @4 e 27 (What
is meant by ‘analysis of financial statement’ 7}

g 78, vid T oreere favewor ARG R €7 (What is
Vertieal Analysis ?)

wo1 79, ot e o Fare e ferareati = fawemer § wefas
fraromal & = B %2 (What is the interest of potential
investors in the analysis of financial statements of a
company ?J

v 80, ‘F fmmae! W e fewot & favemor #
e w &2 (How is ‘window dressing’ a limitation of
financial statement analysis 2}

5 61, TeEr wh vremamT fae e & faem &
FR A I B2 (How the solvency of a businessis assessed
by financial statement analysis ?)

wye 82, fi fagaaur 2 Freter 8 war sy 27 (What is
meant by intevpretation of financial analysis 2

w1 83, fereiy Feremour Faworey & SUEHTT 7 = S &7
(Whiat is meant by tools or techniques of fingncial state-
ment analysis )

o g4, e fesa fEEToy fel s €7 (What is

meant by G't-h,m.parativu-‘l?:inam:tul Statement ?) '
WO 85, AT A faeor @ &7 (What is Cotipara:
tive Income Statement 7). .

gy 86, e frerfa T = &7 (What is
Comparative Balance Sheet 2)

o987, W e &2 (What is Trend Analysis 7).

WY B8, WHTT R o et A & 7 (What is Common-
Size Statement. ?) .

W 89, Eﬂﬁmﬁ!ﬂw?‘ (What are Current. Assefs 7

w00, Tve wetar Fr £ 7 (What are Liquid Assets 7)

W9 91 3EY] aver auE # e 2 (What is the ideal liquid
ratio 7)

T 92 T ST Shi =T, AT B s fayaee
AT AT 22 (Why liguid ratio is considered more depend-
able than current ratie ?)

WY T 1 Wit (Entranee Fees received)

=2t % SE WA (Subseriptions : Received during the year)
o7, e o g A9 2 A 9 (M. Xs Fees received during the year)

a1 % St o = (Bxpenses paid during the year)
=7 5 # #Ew =94 (Outstanding expenses this year)
‘T e iR (Surplus on Bar Account)

ofem w1 ArE Ui (Seeretary’s Honprarium)

ey TE # o wRed H (Cash in hand in the beginning of the year]

et femaren 9 &2 (Locker Rent received)

WY 93. ¥2Teh ST qeEe Sl I Al wetn @ T A
AT #? (Why Stock and Prepaid expenses are not
considered as liquid assets 7)

T O4. FITEE erEar ¥ 2™ == wyEd 2 (What do you
mean by Solvency 7)

v 95, Fafsrem wwersd famredt @ @@ e §7 (What is
meant hy investing activities 7)

wyel 96, Trehg waTE ey s WG ST Tl U S
=1 oiEr TR weEE w2 (How will you treat ‘Interest on
Debenture’ while preparing a Cash Flow Statement ?)
T e T SO 6 i e - o st T 7
(Dividend paid by a finanee company is classified under
which kind of activity while preparing Cash Flow
Statement )

o 98, TT-TieE Wal @b A § 7 TE e Welg feeeot
FrEmraEi €7 (Why is ignoring non-cash items a limitation
ofithe cash flow statement 7)

51 99, Terv wrmareii feramaii @ == 3y &7 (What is meant
by Finaneial Activities ?)

o 100, T HEE e W e sy €7 (What is
meant by Operating Adlivities 7).

w3 TeR AT w93 Mark Questions)

A 1. T A AT T ST e A W A A |
(Distinguish bevween Receipts and Payment Account and
Cash Book.)

W 2. Wiffe e SR @ w = e w5
(State four characteristics of Receipts and Payment
Account )t - '

WY 3, ST AT S S el @A (State
four characteristies of Income and Expenditure Actount.)

ST A, TGRSR T T 3172 T H S st |
(Distinguish between Receipts and Payment Account and
Income and Expenditure Account.)

T 5. TN ST erEishe #41 § 2 (What is Fund-based
Accounting 7)

Ty 6, AT ST 3 S W TR SER T
afrr v e o et fad gu ¥ 9 % T wifte we e @
=TS0 (A Patna Club has kept its accounts on eash basis
and figures for the last year ave given below, Prepare
Receipts and Payments Account for the year! :

500
3,960
120
5,450
2894
1,500
300
470
100

il 2 S Tt fEem = o [Tnvestment made during the year (at cost)] 290)




sharing profitsin the ratio of 8 : 4 : 3. B retires and his
share is taken by A and B equally. Find the new profit
sharing ratio, )

T A0 R, ST T ush ol H ogen g1 S i i d 0 8,2
5 ST T T S E | S e UUT Sl €| 9% 79 2
% R R ool ToufEer © A 2 % Eum T = e i
T 1A @t qurA sitan | (R, S and T are partners.
They share profits in the ratio of 4 31 2. S retives. It is
agreed that in future R and T shall share Profit in the
ratio of 3 : 2. Caleulate Gaining Ratio.)

o AL fel wEE Wi e ie weiE 3iw gl
e i o war €2 (Why assets and liabilities are
revalued on death of a partner 7)

WO 42, (% e TSR SR B 79T 2T e AT A fehar
rar & At @ uitons @2 (What will happen it deceased
partner's due are not settled immediately ?) ]

WY 43, oo HISETT i B A9 ok v = St wiefte wht
FEAT 2 (What journal entry will be recorded for the amount,
payable to deeeased partner ?)

e 44, A, B 30 O WSET & S e i e 8 201 5
SCTHTA W w0 # | A # Y W B ST C A we- A
FutE FCE? (A, B and Care partners shiaring profits in
the ratioof 3:2: 1. A dies, what will be the new profit
sharing ratio.of BB and €.)

W 45, Fedi TS = R B W T A e o fer
= T wfafie

ded for goodwill ori the death of & partner 7)
G4 'aﬂ'lﬁ
ﬁ#ﬁmﬁwﬂ'ﬁ 7 (What journal entry will be recorded
for existing goodwill on the death of a partner )

WA 47, T o (e i Sy H WA A e e wr
e gl et e EAe (e St 7 (In case of dissolus
tion, where are general reserve and accumulated profit &
losses transferred ?)

YO 48, TEH TR WO w1 ST H WH 2ht HETe TeRet e
T w0 e ulele wh et 8 2 (On dissolution, what entiry
is passed if a partner takes over an asset of the firm 73

WY 49, T 2 [EHE g T ok g e arge
mﬁ%wwwﬁﬁzﬁtwﬁr%v (On dissolution, what entry
is passed ifa partner takes gver a liabilities of the tirm ?)

Wy 50. T o farre e femet WigeaT gIon S| S &
mewmiﬁm%? (Onidissolution of a firm,
what entry is passed on making payment of realisation
expenses by a partner 7)

Wy 51, W ok fermee e g o wreafer § faee @ e e
W 31 ¥ FeeRT wpmer e s 7 (O dissolution of a firm,
out of the proceeds received from the sale of assets who
will paid last of all ?)

WY 52, YHeE WA AT FHE WA e G s
Eﬁﬁrﬁ[l (Give any one difference between Revaluation
Account and Realisation Account.)

2 e AT et % ford R

= st anant? (What journal etry will be

TYA 58 9T T WeA w6y o i §7 (What is
proeedure of forfeiture shares ?)

Ty 54. SHEET =i fammey g (5.8.0.1P.) 31 Feer
THE] T A & &7 (What is Employees Stock Option
Plan (E.8.0.P.: 7]

UYH 55. %R @ w49 €7 (What is Bserow Account ?)

uyH 56, el =T == g7 (What is Foreign Company ?)

g ST.WW'& 3T =R gwEE &2 (What do you
mean by Listed Company ?)

Uy 58, AR ST = &7 (What is Right Shares )

Ty 59, UREATeE BOTaE | s Aty €7 (What is
meant by Convertible Debenture ?)

WY 60, sl e FUTHH F4 ¥ 2 (What is Non-
convertible Debenture ?)

T B, FITET W T I T B ST A wHEE & 7 (What
do you mean hy Fixed Charge and Floating Charge ?)

WA 62, T T S9TT T &7 (What is Zero Coupon
Bond )

WA 63, B TeERETe 508 F4 & 7 (What is Deep Discount
Bond %)

W 64, = e F E2 (What is Trust Deed 7)

WY B5. FEOTEET oh T T F S A v 7 (What
is meant by redemption of debentures out of profit 7)

WY (6. ST w5 Gl A FITe = w9 §2 (What
ig meant by redemption of debentures out of capital 2)

WY 67, FTSH Vi e T o i 8w 8§ S
‘ ﬁm%@rml (State the guidelines oP SEBI relatinig
to creation of Debentute Redemption Reserve.)

WY GR, T WIS 5 S F ATUTTAL eh{ el hleh ST @
=7 @18l €7 (What is meant by redemption of debentures by
purchase of own debentures in the apen market 7)

WY 69, SHTTR Vitas dwd wiE o i § de g e
el il @E 6 T8 57 (Which companies are exempted
from creating debenture redemption reserve by the SEBI ?)

YA 70, TR =T afEER g iR e A £
(What is meant by ‘Redemption of debenture by conver-
sion' ?)

Yy T1. W wen | O eI B2 (Whiat is meant hy
Operating Cycle 7)

U 72, Bfe 31T HTESH | A 3w 57 (What is the.
difference between ‘Liabilities’ and Provisiois ?)

g 73, e T e ¥ = = 27 (What s the
difference between Reserve and Provision ?)

U9 T4, TR 91 WA anae #4057 (What s
Contingent Liabilities ?)

Wy 75. B W@ vt o o o fen an wee w
‘g 3l g W we A i st &1 (List the major
heads under which the terms dppearing in ‘Equity and
Liabilities’ of a Company's Balance Sheel are classified.)
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O,

i

et 15, e et ST et e 2y 7 (What

is meant by change in profif sharing ratia ?)

it 16, T ATe PR § R e €7 (What is
meant by sacrificing partiers 7)

T 17, SR Ay A £ (What is Gaining Ratio )

Wy 18, YR @i @ &2 (What is Revaluation
Aceount ?)

T 19, ST AT TSR S e farT S Wi
AT & a1 A e i wrae e T ferar e 77 (How
are the accumulated losses distributed when there is
ehange in profit sharing ratio amongst existing partners ?)

T 20, TR w0 S &7 (What are accumulated
profits 7)

79 21, Wb T @ &7 (What are accumulated
logses 7)

e 22, T e §7 (What is Goodwill ?7)

Ty 23, T g W @ e Pl b
e o A ST | (Name any two factors affecting good-
will of a partnership firm.)

e 24, 3t e et T e oY feR e i S
7. (How the goodwill is valued under the average profit
method 71

w95, s fafis 2 arwe A o fR e
=5 Tt 27 (How Goodwill s valued under super profit

method 2)

mﬂ&-mmwaﬁwqﬁmwm%? (What

-

flo you mean by normal profit and super profit 2)

T 27, A -G S AR A & o

& ot T WA wate et ugt §7 (When there is a

change in profit sharing ratio, what adjustment entry is!

inade for goodwill ?)

Y9 08, T TR T R 6 Al e 30,000 €1 R
3 fafrefona ot ¢ 2,00,000 %1 afE AT T AT 10% #a
SR I U R | (Average profit of a firm Ranjan Store
15 730,000 Capital invested in the business is ¥ 2,00,000.
Caleulate super profit if rate of return is 10%:)

v 29, Ao Heg Er &7 (What is General Reserve ?)

v 30, firay 3 sfew wEET §F 2 1%341‘11?1?5
oo it PR R 1 e Ui @ ifere o et ¥
ot 3 oy ity i | =7 et P ST A L | (Priya
and Anchal are partners. They share profits and losses in
the ratio of 2 @ 1. They admit Priti info partnership by
giving i share in future profits. Caleulate new profil
shari thl.'ﬂt;ia. )

v 31, Al et e e v S S o A & | TR
e e e A

9

g feed vy o fen) 2 3T bt T | (Aditi and
Liaxmi are équal partners in a firm. They admitied

; its 1 . ;
Toponita as a parkner. Aditi gave — th of her share and

3

Laxmi gave % th of her share to Toponita. Caleulate new
profit shaving ratio.)

o1 32, forcien e T HIEEI & W Y 3 ;2 S
3 it 1 9ifi 1 WS o w H g fn s e
T ST WA SR AT T T 3 403 2%1 (Vivek
and Rahul are partners sharing profit in the ratioof3: 2.
Amit is admitted as a partner. Calculate sacrificing ratio
when new ratinis4: 3.2 2.)

U 43, TR FA YT § ¢ 2 8 v A et ot et
a1 5 o o et i v
AT mﬁ'&ﬁmm | {Rajratan and Mritunjay who
share profits in the ratio of 3 : 2 admit C to give him %
chare. Caleulate new profit sharing ratio.)

o 34, vyt s S wrgE ¥ el 3 : 2 % ST H e
a1 2 e e o 26 8 o
ot 3T e T TET ST H W0 SR € | Y, S e S
3 7 wme faiTer 3wt TR | (Shashi and Deep are
partners sharing profitsiin the ratio of # : 2. Théy admit
Ayush as a ew partner (or ; share in future profits of
the firm which he gets equaklly from Shashi and Deep.
Caledlate new: profit sharing ratio of Shashi, Deep and
Ayush.)

w9 35, P, Q, R G & Wi el o HAnE 6 0 5 4
AT 3 A 1 A Q 3R T e & P 3 R o 4T
w-fauer s == ey (P, Q and R are pariners
‘sharing profits in the ratio of 6 : 5 4. What will be the
profit sharing vatio if Q retires.)

g 36, AT, S 3T A FHE €S 2 8 ¢ 2 % ST
3 et T et 1 2 S SIS TR A & 7
iy = 7 T AT PR SR e e ? (Aman, Chaman
and Naman ave Pariners Sharing Profits in the ratio of
13+ 9, What will be the new profit sharing ratio of Chaman
and Naman if Aman retires ?)

y 7. SR, ST 3 R 2 11 1% I & w
aﬁzﬁg@rﬁmﬁlﬁsﬁmmwﬁ%amﬁwmﬁ
Bt i it 3t wrae T S 0 e | (Pragati, Payal
and Maitri are partners sharing profits in the ratio of 2 1
- 1. Maitvi retives. Her share is taken by Pragati. Calculate
the new profit sharing ratio of Pragati and Payal.)

g 38, e, T S R 5 ;3 & 3 S el sl
aﬁgqm%ﬁmqmmm%lmﬁwm_
S AT ST 2 ¢ 1 S ST 8 foen S T Y- fesTE
AT W T % | (Satyam, Shivam and Saket are
partners sharing profits in the ratio of 5 : 3': 2. Shivam
retives, His share is taken by Satyam and Saket in the
tatioof 2 1. Caleulate new profit sharing ratio.)

WO 39, A, BHAT C UF i A WEET ¢ W Al S 4 03
#; arara ¥ e e 41 B SYEETYT TR ST E AT IR
forpll 25 T AT A qT O SRTAT-ETE T € Y- TamsTT =
T AT O ) (A, B and € are pariners in firm




L

Y 86. T fave fe@TT & wenr JEEg | (Mention
the types of Comparative Statements.)
Ty 87, s ety feaon o e &7 (What is the
advantage of Comparative Balance Sheet 7)
WY 88, TE SEAT 2 TE € 300,000 F wETE W To
% 2,00,000 e T o qﬁ!mﬁmﬂmmﬁiﬁm
Tferora 7 e | (I 4 company had fixed assets 3,00,000
and current assets T 2,00,000, then find out the percentage
of current assets o fotal assets.)
Ty 89, STUTE 41 &2 (What is Ratio ?)
Uy 90, 2o fAgemuT o @ FY adsd | (State two
ohjectives of Ratio Analysis.)
Uy 91, I [AYSIHOT a7 Hed w A (State
two limitations of Ratio Analysis.)
T 92, S fayerauT % i B IWET FAEA | (State
any Lwo uses of Ratio Analysis.)
YR U3, TIE &l AE UM Fared | (Mention any two
Liquidity Ratio.)
U9 94 BT AT F 57 | What is Curvent Ratio ?)
YA 95, Treke WaTE Fareror & w3 E 7 (What is meant
by Gash Flow Statement ?)
W 96, TreE UETE FETT fee Sraiehe WHT H ynfiE @
%7 (Which aceounting standard governs the preparation
of Cash Flow Statement 7)
W 97 Tiehg WA fHET T w o < SRyd whed |
(State two objectives of preparing Cash Flow Statement.)
) ‘93 ek o & T &7 (What is meant by

Flow arise'?)
Ty 100, T T e o e e #10(Give
two examples of Cash Flow from operating activities.)

e @ B AT WORE2 WAk Questions)

vy 1. w0 2018w == 30,000, 3 18,000 == aft ot
s E ) ad 2013 3 o =2 | 3ma @1 T L | (Subscription
received during the year 20138 ¥ 30,000, Subscription ¥
10,000 is still outstanding. Compute the income from
subseription for the vear 2013.)

oy 2. = 2019 H wE == 2 530,000 ¥ v @ % e i
A ST T 20,000 971 T 2013 & fog =R H S W
T | (Subscription received during the year 2013 i.e.,
230,000. Subseription ¥ 20,000 was outstanding at the end
of previous year. Calenlate the income from subseription
for the year'2013.) ’

T 5, T 2018 B 9T wErE 30,000 F) TR W A
=7 % 45,000 47 @ 2013 2 o0 T © ST @ A0 |
(Subseription received during the year 2018 2 30,000
Subseription T 45,000 was received in-advance at the end
of previous year. Compute the income from subscription
for the year 2013.)

| and

799 99, mmmmﬁm%? (When does'a cash |

WG 4. TR SR o 250 FEE § | Wedeh 2 10 iR = 26

%1 T T = < 50 ST it R | we 9 ok o e E

T =T TR T (A club has 250 members, each payingan
annual subseription 2 10, 750 are still due for previous year.
Cnmpute the income from subseription for current year,)

5. T BHE g A =Y % fem ¢ 40, = 99 fe
2 360 [ma\adaaaﬁmqﬁgqe 60) | BT S 3 I - T
raT T 2 = 9y S T & | (Subsceription received
for previous year T 40, for eurrent year 3 360. Subscriptions
rot received for the current year? 60, Caleulate theamount
to be written in the Receipts and Payment Account of
Current Aceount.)

W 6. 3 5 A WE == 50,000 &6 o a H e
w7 ¢ 8,000; = o W H e =17 6,000 | ¥R H W I
T T TARE A (Subscription received during the year
% 50,000; subseription outstanding at the end of the year
% 8,000; subseription outstanding at the beginning of the
year T 6,000. Net income from subscription will be ...)

w7, = 3 R ure = 7 1,80,000, 36 6 3§ W
TE1T 20,000, @ & 3= W W S1HE == 2 10,000 1 S0 w4
S T W R TEE w1 W ATl v g e @ (Subscription
1,804000, subscription out-
standing at the end of the year ¥ 20,000, subscription
received in advance at the end of the year ¥ 10,000. The

reveived during the year ¥

amount of subscription to be credited to Income and

| Eapeaditure Account will be) :

WO, wr-a wErE w2 (What is Profit
Lioss Appropriation Account 2]

w9, mﬁﬂmﬁﬂu@nﬁaﬁmﬁuﬁaﬁa
1 TRt & (State transactions in which fixed eapital of
partners miay change.)

7T 10, 7T 2 7AW WEET #1 I A 2 2,00,000 o T
22,560,000 fafreifers fomar | gt e = 2 8 250,000
ey B e o feer st | Ram and Rahim are partners,
Ram invested ¥ 2,00,000 and Rahim ¥ 2,50,000. In the
absence of partnership deed distribute the profit 2 50,000
o each partner.)

W 1) FTN AT HHTATS W S i a Svd 87 (What
is the objective of preparing Profit and Loss Appropria-
tion Account 7)

w9 12, et el 3 i w1 2 40,000 %01 oo &1 e 10%
e ST TS T T AT £ | S S| T W & A Wt
e gy fawe o 14 §7 (Rahul Mishra has given a loan of
740,000 to the firm, He elaims 10% p.a:interest. Is his claim
valid in case partnership deed is silent in this matter ?)

7 13. qﬁmmwmmmﬁammqsﬁ
@Al 2 W -HY 6T T T =1 £7 (Under which method
of maintaining Capital Aecount, Current Accounts are
maintained alongwith Partner’s Capital Accounts?)

WU 14, WIEET W 2 qied | @ s w7 (What is

- meant by reconstitution of partnership firm ?)



;N
. |

C e g e S s S f o et e
FARW | (Mention the items which are debited to Deceased
Partner's €apital Account.)

YA 45, W WTEETT T g i wen W wie e we wfE
1 ATEET gy e At # afer smam? (In which ratio
accumulated profit and loss are shared by the partners in
the event of death of a partner ?)

T AB. Utk FIEEN T geg B U e e A Sierdr
R 7T Feret At e 4w et well 8 2 (Which capital accounts
isfare credited for the amount of Joint Life Policy in the
event of the death of a partner ?)

YT 47, e e o e W = anyra %7 (What is
meant by dissolution of a firm ?)

e 48, Tt 21 g9 mersy ek wEEe we @ e Er
T (Give bwo circumstances under which a partnership
firm is dissolyved.)

Wy 49, Tt 21 Zynd, sy e e i Tt g
TR AT (State two circumstances under which part-
nership is deemed to have been dissolved.)

WY 50, W S WHIOE g yi W e @ faema A s
wewen femi s femar s ? (On dissolution of a firm,
outb of proceeds received from the sale of assets who will
paid first of all 7)

W . TR e T w E wamgut difaal wie-dt
%7 (What are the two important modes of disselution of
partnership firm 7)

WY 59, SEl T #AT e 41 %y anEl | (State two
objectives of Realisation Account.) :

W 53, i o favieand wega | (State any two
characteristics of a Company.!

w9 54, Frefi wner =it whtg =1 fRyTean waed | (State any
two chariicteristics of a Private Company.)

WY 55, 39T &7 (What is Share ?)

Y 56, et g FRiToe e e e ST & WeRTt garEd |
(Name the types of shares which a company can issue.)

WY 57, ireriTa qeiTeehie 39T St €7 (What is Redeemable
Preference Shares 7)

WEH 58, WTTeA g 9= £ 2 (What is Subseribed Capital 2)

TR 59, FUTHS 1 9t fauiuard = £7 (What are the bwo
characteristics of debenture 7)

WA G0, FUTTH T UEH &7 (Whal is the nature of
debenture ?)

YA 61 VITew WmUTYH =T §7 (What is Redeemable
Deberiture 7)

W9 62, W Furas =41 &7 (What is [rredeemable
Debenture 7)

WA 63. T -ded qed 0 87 (What is Cum-interest
Quotation'?)

Y9 64, SHTH-TIea qed 0 57 (What is Ex-interest
Guotation 7

9T 65. WO & wirEE & fow faw o = weEt & A
waen | (Name two sources of finance for redemption of de-
bentures.)

T 66, FUTTS YIEI 2l Tehaye ST Tagtel o €2 (What
is lump-sum payment method of redemption of debenture 7)

WY 67, I =k 91T o aiiehi 2 ATH 9aEl | (Name the
ways of redemption of debentures.)

W 68, HIH FOTIHT o QT o A2 HUTa e dad
&l el T femar Sar 82 (Where is ‘Debenture
Redemption Reserve’ fransferred after the redemption of
all debentures 7)

W 69, O 2 afieE g g w0 g H e i
ST I Her weren WA ? (FProm how much amount
‘Debenture Redemption Reserve’ will be ereated in case of
redamption of debentures by conversion ?)

WY 70, FEOTIH VI e R e €7 (What is meant by
Debenture Sinking Fund ?)

Wy 7L w2 -9 E gE ferw faeer €2 (What
are the two basie financial statements of a company 7}

v 72, anfds fogr s E? (What is Balance Sheet 7)

w1 73 faira faavor = =id us uefa gaE) (State any
one nature of financial statements.)

Wy 74. Taia femroil 25 2 SpEl @ aaen) (State two
objectives of financial statements.)

WA 75, Tawa e & Al o T =aEt | (State the
namus of the elements of finaneial statements.)

g 76, T-we w3 @ s 1 (Give two
examples of Won-current assets,)

W 77, e Ferautt  fayent o i 2 Sy we
[State any two ohjectivesof analysis of financial statement. )

wye 78, difaa faveyr fmg @en £ 7 (What is Horizontal
Analysis %)

o 79, Tt fermmort & Faveron 36 =g & v aargd )
(State any two advantages of analysis of financial state-
ment. |

vy 80). e fammon o faversor &6 &1 Hivnsi @ ameu |
(State two limitations of analysis of financial statement.)

wo 81 Tereit gt 26 it Tt 2 favemmm W soreramit
w7 (What is the interest of lenders in the analysis
of financial statements of a company 7)

g 89 Fenft =ort & fas faawon o favemor § w5t
arfusifal =t @0 w7 (What is the interest of tax
authorities in the analysis of financial statement of a
compatiy ?)

Wy 83, Tasire fagsaur Suerror oF = 2294 57 (What are
the abjectives of tools for linancial analysis ?)

yy 64, Tt faversr o6 2 3usmton o6 Fm aaee | (Name
two tools for financial analysis.)

WY 55, qerTEE fawa faeer fav et & w8 W%y
Farswl (State any two objectives of preparing Compara-
tive Statements.)
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s | aiER el W9 (1 Mark Questions)

W 1, T e are wren e e 7 (What is a
Not-for-Profit Organisation 7)

qvq.2. mumrﬁmafr%m’réa‘rmil (Give any
two examples of Not-for-Profit Organisation.)

Y 3. - HeeHT st S 3 2 e i o E 2
(What are the two important sources of income of Not-for-
Profit Organisations ?)

U 4, ST §7 (What is Subscription )

YO 5. WETEAT Vs 1 %7 (What is membership fee ?)

YA 6. 30 Wi Rl FEEOTE | (Give two examples
of Revenue Receipts.)

Y7, Wl ST 6 g 2eTeeoT § | (Give bwo examples of
Capital Expenditure.)

WY 8, AR W AIgiEe T U S el S g7 (What
are partners collectivaly called )

Yo O, W R AT B (What is meant by firm )

TR WEER] & HigfEw w1 ] T R S e

wy 10, e favTee 3O @ §7 (What is Profit
Sharing Ratio ?)

W 1) v g e 2w ww Ee W £ (When
the capitals ave fixed what acceunts are maintained 7)

Wy 12, ATEEH] He o svira W mreen few s
wa-afE EwEE R E? (Lo absence of Partnership Deed,
in which ratio the partners share the profits and losses 7)

W 13, HEER S & s W HEE o sl W R ay
# @i g A €2 (In absence of Partnership Deed, in
which rate, interest is paid on partner’s loan 2)

WO 14, =T T i i Aaey ) (State the nature of
Current Acciaz.)

WO 15, %S 2 By, aemgd fol uah Wigigr e i
A E) (State any two occasions when reconstitution of a
partnership firm takes place.)

9 16, T IR S E? (What is Sacrificing Ratio 7)

TR 17, A ST S S o w0 W 67 (What is the
formula for calenlating sacrificing ratio 7)

w18, Ut &t 2 ared R wur s e e s
TR %1 (State two circumstances in which sacrificing ratio
may be applied.)

WP 19, F-WI ST AR O g i | (Give
the formula of ealeulating Gaining Ratio 7}

YT 20, T I R ATCT HISaRY # e 7 (What
is meant by Gaining Partners ?)

wye 21, Ut = wend a5 wwy-wiia st e
feman = wepel 1 (Give two circumstances in which Gaining
Ratio may applied.)

T 22, T & a) favreand 2 1 (Give two characteris-
ties of Goodwill.)

wyd 23, @nfd o geaiw i Al @A e

(State any three methods of valuation of Goadwill.)

WYA 24, AT & £7 (What is Super Profit 2)

uya 25. siwm s fafa o6 swia enfa i om s g d |
(Give the formula of ealeulating Goodwill under average
profit methorl.)

e 26. 3iTHa FT Fgr sifery ¥ o aan) (Distin-
guish between average profit and super profit.)

WY 27, T T g Aty i it w6 e s
HA T | (Give the formula of caleulating goodwill under the
capifalisation ol average profit method,)

WY 28, siferemes YeireRvar fafer o w=nfa w e g |
(Give the formula for caleulating goodwill under capitali-
sation of super profit.)

Y 90, Uk T WIEEW Wl W @1 e ST aaed |
(State any two main rights acquired by the new partner.)

w1 30, Foaefr e o waer ut Qe Wi S o e
THITOT BEAEL ) (Slabe any two reasons for the preparation of
Revaluation Account on the admission of a partner.)

v 31, e gt # e @ wEd §7 (What do you
mean hy Aceumulated Loss )

TP 3L AN TR U 39 @@ w7 (What is new

| profit sharing ratio 7)

Y9 33, W1 T ST 4T 7 (What is Saerificing
Ratio ?)

WY (Y4, I AT STAUTH A7 1 ey faarer s W amn
SAET | (Distinguish between Sacrificing Ratio and New
Preizt Sharing Ratio.)

WY 35, WEE & HEHYT UEUT W Sn90E 82 (What is:
meantby retirement of & partner 71

g 36, HISIETE <R S{SARTST TRV SR wHE | wey wif s
A T W9 §2 (What is nieant by ‘Gaining Ratio’ on
retirement of a partrner ?)

WPH 37, TT-STE T <Rl 0T 2R IF R w2 (What is
the formula of Gaining Ratie 7)
et & e  afte @ faar % fon w-a @
e = £7 (Which account is prepared to-show the
changes in the value of assets and liabilities at the time of
rvetivement of a_partner ?)

WY 39, SRR UROT SR oh TRl 2 Toh o1 e | (State
any two modes of retirement. )

WA 40. ferelt WEER % A UE A U w5
FrratereT fer et famar = 87 How is goodwill recorded at
the time of relivement of a parnter 1)

WY 41, WIEET & Il G w5 g A
(When is Partner's Exeoutors Account prepared ?)

TUH 42, WIEIET h STERRTOT WET 37T WIgET g H S
aarEw | {Distinguish between retirement of a partner and
death of a partner.)

PIF 4R, W il e e e =i TRt amE ) (State the

situation of a firm in ease of death of'a partner.)
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